TABULATION S	SHEET										
Bid No: 2017-0				Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4	
PROJECT: CO	OCKRELL HILL ROAD MCIP PROJECT NO. 42301			TISEO Paving	Company	Rebcon	1868	Ragle, Inc.		Ed Bell Constr	uction Co.
LIMITS: NORT	'H OF MOLER STREET TO DAVIS STREET			P.O. Box 27004	10	W. Northwest I		P.O. Box 444		10605 Harry H	
PROJECT MAN	NAGER: TED TEGENE, P.E.			Dallas, TX. 752	27	Dallas, TX 7522	20	Newburgh, IN	47629-0444	Dallas, TX 753	54-0787
				972.289.0723		PH: 972-444-82	230	PH: 817-285-6	060	PH: 214-358-6	581
				Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy	
	Contact			ltiseo@tiseopavir	ng.com	danny@rebcon.co	om	tragle@ragleinc.e	com	info@edbellcons	truction.com
				MWDE FIDME	vere indicated on						
	MWBE				nission	N	lo				
	Dallas County Tax Payer				es		es			١	'es
	Bid Bond Received			Y	es	Y	es	Y	'es	١	'es
	Addendums Returned			Y	es		es	Y	'es	١	'es
	1295 Form			Y	es	Υ	es	Y	'es	١	'es
	Award Recommendation			Recommen	d for Award						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
	SCHEDULE 1 - STA 14+65 TO STA 49+00 (CITY OF COCKRE										
100-2002 104	PREPARING RIGHT OF WAY SAWCUTTING (ASPHALT & CONCRETE)	STA LF	50 2,365	\$5,380.00 \$5.00	\$269,000.00 \$11,825.00	\$7,500.00 \$2.64	\$375,000.00 \$6,243.60	\$15,000.00 \$1.87	\$750,000.00 \$4,422.55	\$12,600.00 \$5.25	\$630,000.00 \$12,416.25
104-2001	REMOVING CONCRETE (PAVEMENT)	SY	1,417	\$6.50	\$9,210.50	\$18.56	\$26,299.52	\$13.00	\$18,421.00	\$15.00	\$21,255.00
104-2029	REMOVING CONCRETE (CURB OR CURB & GUTTER)	LF	9,758	\$1.50	\$14,637.00	\$2.91	\$28,395.78	\$5.50	\$53,669.00	\$7.50	\$73,185.00
104-2015 104-2017	REMOVING CONCRETE (SIDEWALK) REMOVING CONCRETE (DRIVEWAYS)	SY SY	1,766 1,806	\$3.70 \$6.00	\$6,534.20 \$10,836.00	\$8.41 \$12.62	\$14,852.06 \$22,791.72	\$13.00 \$15.00	\$22,958.00 \$27,090.00	\$7.50 \$15.00	\$13,245.00 \$27,090.00
105-2200	REMOVING CONCRETE (DRIVEWAYS)  REMOVING STAB. BASE AND/OR ASPH. PVMT. (DEPTH UNI	SY	34,464	\$6.00 \$4.25	\$146,472.00	\$4.01	\$138,200.64	\$15.00	\$180,936.00	\$15.00	\$27,090.00
110-2001	EXCAVATION (ROADWAY)	CY	9,082	\$14.00	\$127,148.00	\$20.91	\$189,904.62	\$24.25	\$220,238.50	\$15.75	\$143,041.50
132-2004	EMBANKMENT (FINAL)(DC)(TY B)	CY	5,124	\$4.75	\$24,339.00	\$27.28	\$139,782.72	\$24.00	\$122,976.00	\$15.75	\$80,703.00
160-2003 162-2002	FURNISHING AND PLACING TOPSOIL (5 IN) BLOCK SODDING	SY SY	9,954 9,954	\$5.50 \$5.65	\$54,747.00 \$56,240.10	\$5.24 \$7.45	\$52,158.96 \$74,157.30	\$4.50 \$3.18	\$44,793.00 \$31,653.72	\$2.10 \$4.20	\$20,903.40 \$41,806.80
247-2041	FLEX BASE (CMP IN PLC) (TY D GR 2) (FNAL POS)	SY	4,370	\$17.50	\$76,475.00	\$12.21	\$53,357.70	\$13.00	\$56,810.00	\$15.75	\$68,827.50
260-2002	LIME HYDRATED (SLURRY)	TON	756	\$230.00	\$173,880.00	\$157.30	\$118,918.80	\$145.00	\$109,620.00	\$157.50	\$119,070.00
260-2006 340-2011	LIME STABILIZED SUBGRADE (8 IN) (DC) (TYPE B)  DENSE-GRADED HOT-MIX ASPHALT (METHOD)(TY B) PG 64	SY TON	25,213 831	\$4.90 \$193.25	\$123,543.70 \$160,590.75	\$3.87 \$184.69	\$97,574.31 \$153,477.39	\$4.50 \$167.90	\$113,458.50 \$139,524.90	\$4.20 \$85.00	\$105,894.60 \$70,635.00
340-2116	DENSE-GRADED HOT-MIX ASPHALT (METHOD)(TY D) PG 64  DENSE-GRADED HOT-MIX ASPHALT (METHOD)(TY D) PG 64		1,517	\$195.50	\$296,573.50	\$187.00	\$283,679.00	\$170.00	\$257,890.00	\$95.00	\$144,115.00
360	REINFORCED CONCRETE PAVEMENT (11 IN) (CL P)	SY	22,455	\$65.95	\$1,480,907.25	\$85.00	\$1,908,675.00	\$68.00	\$1,526,940.00	\$73.50	\$1,650,442.50
360-2025	REINFORCED CONCRETE PAVEMENT (11 IN) (CL P) (INTEG	SY	510	\$155.00	\$79,050.00	\$216.79	\$110,562.90	\$80.00	\$40,800.00	\$168.00	\$85,680.00
416-2029 420-1	DRILL SHAFT (RDWY ILL POL) (24 IN) STREET HEADER (CONC TO CONC)	LF LF	55 268	\$200.00 \$35.00	\$11,000.00 \$9,380.00	\$225.50 \$20.00	\$12,402.50 \$5,360.00	\$180.00 \$60.00	\$9,900.00 \$16,080.00	\$209.00 \$31.50	\$11,495.00 \$8,442.00
420-2	STREET HEADER (CONC TO ASPH)	LF	654	\$35.00	\$22,890.00	\$15.00	\$9,810.00	\$60.00	\$39,240.00	\$31.50	\$20,601.00
479-2004	ADJUST MANHOLES (SANITARY)	EA	13	\$105.00	\$1,365.00	\$110.00	\$1,430.00	\$100.00	\$1,300.00	\$100.00	\$1,300.00
496 496-2007	REMOVING OLD STRUCTURES (INLETS) REMOVE OLD STRUCTURES (PIPE)	EA LF	522	\$800.00 \$21.00	\$1,600.00 \$10,962.00	\$825.00 \$22.00	\$1,650.00 \$11,484.00	\$750.00 \$20.00	\$1,500.00 \$10,440.00	\$825.00 \$22.00	\$1,650.00 \$11,484.00
496-2008	REMOVE OLD STRUCTURE (CULVERTS) (AT MERDITH INTE	LF	64	\$16.00	\$1,024.00	\$16.50	\$1,056.00	\$15.00	\$960.00	\$16.50	\$1,056.00
529-6001	CONCRETE CURB (TY1) (MOD 1.5' WIDE)	LF	1,100	\$35.00	\$38,500.00	\$25.00	\$27,500.00	\$9.00	\$9,900.00	\$31.50	\$34,650.00
529 530-1	CONCRETE CURB (COD) (MONO)	LF SY	8,682 1,527	\$2.50 \$72.00	\$21,705.00 \$109,944.00	\$2.00 \$79.95	\$17,364.00 \$122,083.65	\$5.25 \$60.00	\$45,580.50 \$91,620.00	\$3.15 \$73.50	\$27,348.30 \$112,234.50
530-1	DRIVEWAYS (CONC) (6 IN THCK) DRIVEWAYS (CONC) (8 IN THCK)	SY	840	\$88.00	\$73,920.00	\$93.27	\$78,346.80	\$70.00	\$58,800.00	\$73.50 \$84.00	\$70,560.00
531-2002	REINF CONCRETE SIDEWALKS (4") (4")	SY	84	\$53.00	\$4,452.00	\$64.59	\$5,425.56	\$45.00	\$3,780.00	\$48.00	\$4,032.00
531-2035	REINF CONCRETE SIDEWALKS (5") (4")	SY	2,453	\$53.00	\$130,009.00	\$53.30	\$130,744.90	\$45.00	\$110,385.00	\$48.00	\$117,744.00
531-2024 531-2005	REINF CONCRETE SIDEWALKS (10") (5") CURB RAMP (TY 1)	SY EA	590 8	\$58.00 \$1,850.00	\$34,220.00 \$14,800.00	\$61.81 \$1,820.00	\$36,467.90 \$14,560.00	\$45.00 \$1,125.00	\$26,550.00 \$9,000.00	\$48.00 \$2,100.00	\$28,320.00 \$16,800.00
531-2006	CURB RAMP (TY 2)	EA	6	\$1,950.00	\$11,700.00	\$1,940.00	\$11,640.00	\$1,300.00	\$7,800.00	\$2,100.00	\$12,600.00
531-2008	CURB RAMP (TY 3)	EA	3	\$1,950.00	\$5,850.00	\$2,550.00	\$7,650.00	\$825.00	\$2,475.00	\$2,100.00	\$6,300.00
531-2010 531-2017	CURB RAMP (TY 7) CURB RAMP (TY 21)	EA EA	31 6	\$1,950.00 \$2,600.00	\$60,450.00 \$15,600.00	\$1,150.00 \$3,150.00	\$35,650.00 \$18,900.00	\$1,400.00 \$2,100.00	\$43,400.00 \$12,600.00	\$2,100.00 \$2,100.00	\$65,100.00 \$12,600.00
531-2017	CURB RAMP (SPECIAL)	EA	3	\$2,600.00	\$7,950.00	\$3,150.00	\$8,160.00	\$2,100.00	\$6,300.00	\$2,100.00	\$6,300.00
531-2040	CURB RAMP (TY 5)	EA	2	\$2,450.00	\$4,900.00	\$2,240.00	\$4,480.00	\$1,250.00	\$2,500.00	\$2,100.00	\$4,200.00
531-2041	CURB RAMP (TY 10)	EA	9	\$1,950.00	\$17,550.00	\$1,360.00	\$12,240.00	\$1,750.00	\$15,750.00	\$2,100.00	\$18,900.00
531-2051 531-2129	CURB RAMP (TY 10) (MOD) REINF CONCRETE SIDEWALK CURB (9 IN MAX HGT)	EA LF	1,037	\$2,450.00 \$21.00	\$2,450.00 \$21,777.00	\$1,200.00 \$11.00	\$1,200.00 \$11,407.00	\$1,750.00 \$10.00	\$1,750.00 \$10,370.00	\$2,100.00 \$21.00	\$2,100.00 \$21,777.00
531	CONCRETE STEPS	CY	1	\$1,800.00	\$1,800.00	\$2,100.00	\$2,100.00	\$725.00	\$725.00	\$3,150.00	\$3,150.00
618-2018	CONDUIT PVC (SCH 40) GRAY (2 IN)	LF	1,290	\$5.80	\$7,482.00	\$6.16	\$7,946.40	\$9.00	\$11,610.00	\$6.05	\$7,804.50
618-2024 624-2043	CONDUIT PVC (SCH 40) (4 IN) GROUND BOX TY A (12231)	LF EA	2,560	\$12.25 \$675.00	\$31,360.00 \$2,025.00	\$13.09 \$715.00	\$33,510.40 \$2,145.00	\$16.00 \$900.00	\$40,960.00 \$2,700.00	\$12.65 \$704.00	\$32,384.00 \$2,112.00
908	WHEEL STOPS	EA	9	\$63.00	\$567.00	\$200.00	\$1,800.00	\$85.00	\$765.00	\$55.00	\$495.00
5100J	8" GATE VALVE	EA	1	\$2,100.00	\$2,100.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00
20300	ADJUST AND/OR RELOCATE WATER METERS	EA	10	\$105.00	\$1,050.00	\$110.00	\$1,100.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00
20330 20340	WATER VALVE ADJUSTMENTS ADJUST WASTEWATER LATERAL CLEANOUTS	EA EA	27 4	\$105.00 \$105.00	\$2,835.00 \$420.00	\$110.00 \$110.00	\$2,970.00 \$440.00	\$100.00 \$100.00	\$2,700.00 \$400.00	\$100.00 \$100.00	\$2,700.00 \$400.00
110-2002	EXCAVATION (CHANNEL)	CY	50	\$21.00	\$1,050.00	\$50.00	\$2,500.00	\$30.00	\$1,500.00	\$100.00	\$5,000.00
402-2001	TRENCH EXCAVATION PROTECTION	LF	6,910	\$2.00	\$13,820.00	\$1.10	\$7,601.00	\$1.00	\$6,910.00	\$1.00	\$6,910.00
432-2002 432-2021	RIPRAP (CONC) (5 INCH) RIPRAP (STONE PROTECTION) (18 INCH)	CY CY	10 126	\$525.00 \$105.00	\$5,250.00 \$13.230.00	\$600.00 \$110.00	\$6,000.00 \$13.860.00	\$550.00 \$100.00	\$5,500.00 \$12,600.00	\$825.00 \$100.00	\$8,250.00 \$12,600,00
450-6042	RAIL (RY PR1)	LF	60	\$105.00	\$13,230.00	\$110.00	\$6,000,00	\$100.00	\$12,600.00	\$100.00	\$12,600.00

	SHEET										
d No: 2017-	. •			Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4	
MITS: NORT	OCKRELL HILL ROAD MCIP PROJECT NO. 42301 IH OF MOLER STREET TO DAVIS STREET NAGER: TED TEGENE, P.E.			TISEO Paving P.O. Box 27004 Dallas, TX. 752 972.289.0723	10	Rebcon W. Northwest I Dallas, TX 7522 PH: 972-444-8	20	Ragle, Inc. P.O. Box 444 Newburgh, IN 4 PH: 817-285-6		Ed Bell Constr 10605 Harry Hi Dallas, TX 753 PH: 214-358-65	nes 54-0787
				312.203.0123		F11. 372-444-0	230	F11. 017-203-0	000	F11. 214-330-03	561
	Contact			Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy	
	Contact			Itiseo@tiseopavii		danny@rebcon.c	<u>om</u>	tragle@ragleinc.c	<u>com</u>	info@edbellcons	truction.com
	MWBE				vere indicated on nission		No				
	Dallas County Tax Payer			Y	es	Y	es			Y	'es
	Bid Bond Received				es		es		es		'es
	Addendums Returned 1295 Form				es es		es		es es		'es 'es
	Award Recommendation				nd for Award	•					
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
464-2004 464-2005	REINF. CONCRETE PIPE (21 IN.)(CL. III) REINF. CONCRETE PIPE (24 IN.)(CL. III)	LF LF	511 1,270	\$140.00 \$147.00	\$71,540.00 \$186,690.00	\$143.00 \$154.00	\$73,073.00 \$195,580.00	\$130.00 \$140.00	\$66,430.00 \$177,800.00	\$143.00 \$154.00	\$73,073.00 \$195,580.00
464-2007	REINF. CONCRETE PIPE (30 IN.)(CL. III)	LF	1,327	\$168.00	\$222,936.00	\$176.00	\$233,552.00	\$160.00	\$212,320.00	\$176.00	\$233,552.00
464-2009	REINF. CONCRETE PIPE (36 IN.)(CL. III)	LF LF	629 3,115	\$189.00 \$231.00	\$118,881.00 \$719,565.00	\$198.00 \$242.00	\$124,542.00 \$753.830.00	\$180.00 \$220.00	\$113,220.00 \$685.300.00	\$198.00 \$242.00	\$124,542.00 \$753.830.00
464-2010 465-2	REINF. CONCRETE PIPE (42 IN.)(CL. III)  MANH (COMPL) (JUNCT BOX) (TY M) (4X4)	EA	3,115	\$231.00 \$4,200.00	\$719,565.00	\$242.00 \$4,400.00	\$753,830.00	\$220.00	\$685,300.00	\$242.00 \$4,400.00	\$753,830.00
465-3	MANH (COMPL) (JUNCT BOX) (TY M) (5X5)	EA	12	\$5,250.00	\$63,000.00	\$5,500.00	\$66,000.00	\$5,000.00	\$60,000.00	\$5,500.00	\$66,000.00
465-4 465-5	MANH (COMPL) (JUNCT BOX) (TY M) (6X6)  MANH (COMPL) (JUNCT BOX) (TY M) (9X9)	EA EA	1	\$7,350.00 \$8,400.00	\$7,350.00 \$8,400.00	\$7,700.00 \$8,800.00	\$7,700.00 \$8,800.00	\$7,000.00 \$8,000.00	\$7,000.00 \$8,000.00	\$7,700.00 \$8,800.00	\$7,700.00 \$8,800.00
465-6	MANH (COMPL) (JUNCT BOX) (TY M) (9X9)  MANH (COMPL) (JUNCT BOX) (TY M) (12X6)	EA	1	\$9,450.00	\$9,450.00	\$8,800.00	\$8,800.00	\$9,000.00	\$9,000.00	\$9,900.00	\$8,800.00
465-7	INLET (COMPL) (DROP) (TY Y-1) (3X3)	EA	2	\$3,150.00	\$6,300.00	\$3,300.00	\$6,600.00	\$3,000.00	\$6,000.00	\$3,300.00	\$6,600.00
465-10 465-11	6' CURB INLET 8' CURB INLET	EA EA	1 4	\$3,150.00 \$3,675.00	\$3,150.00 \$14,700.00	\$3,800.00 \$4,350.00	\$3,800.00 \$17,400.00	\$3,000.00 \$3,500.00	\$3,000.00 \$14,000.00	\$3,300.00 \$3,850.00	\$3,300.00 \$15,400.00
465-11	10' CURB INLET	EA	7	\$4,200.00	\$29,400.00	\$4,900.00	\$34,300.00	\$4,000.00	\$28,000.00	\$4,400.00	\$30,800.00
465-13	14' CURB INLET	EA	7	\$5,250.00	\$36,750.00	\$6,000.00	\$42,000.00	\$5,000.00	\$35,000.00	\$5,500.00	\$38,500.00
465-14 466-6135	20' CURB INLET HEADWALL (CH - PW - S) (DIA= 42 IN)	EA EA	3	\$7,350.00 \$14,700.00	\$22,050.00 \$14,700.00	\$8,200.00 \$15,400.00	\$24,600.00 \$15,400.00	\$7,000.00 \$14,000.00	\$21,000.00 \$14,000.00	\$7,700.00 \$15,400.00	\$23,100.00 \$15,400.00
467-6107	30" SETP-CD (4:1) (PER TxDOT STD.)	EA	1	\$2,100.00	\$2,100.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00
904	SAWCUT, REMOVE & CONNECT TO EX ARCH CULVERT	EA	1	\$4,200.00	\$4,200.00	\$4,400.00	\$4,400.00	\$4,000.00	\$4,000.00	\$4,400.00	\$4,400.00
508-2002 512-2001	CONSTRUCT DETOURS PORT CTB (FUR & INST)(SGL SLOPE)(TY 1)	SY LF	1,116 420	\$60.00 \$105.00	\$66,960.00 \$44,100.00	\$109.18 \$50.71	\$121,844.88 \$21,298.20	\$40.00 \$50.00	\$44,640.00 \$21,000.00	\$63.00 \$63.00	\$70,308.00 \$26,460.00
512-2008	PORT CTB (FUR & INST) (LOW PROF) (TY 1 & 2)	LF	2,520	\$30.00	\$75,600.00	\$28.00	\$70,560.00	\$50.00	\$126,000.00	\$31.50	\$79,380.00
512-2026	PORT CTB (MOVE) (LOW PROF) (TY 1 & 2)	LF LF	150	\$6.00	\$900.00	\$7.50	\$1,125.00	\$12.00	\$1,800.00	\$10.50	\$1,575.00
512-2040 512-2044	PORT CTB (REMOVE) (SGL SLOPE) (TY 1) PORT CTB (REMOVE) (LOW PROF) (TY 1 & 2)	LF	420 2,920	\$8.00 \$8.00	\$3,360.00 \$23,360.00	\$22.37 \$7.00	\$9,395.40 \$20,440.00	\$10.00 \$10.00	\$4,200.00 \$29,200.00	\$6.30 \$8.40	\$2,646.00 \$24,528.00
529-2150	CONCRETE CURB (COD) (MONO) - FOR TCP ONLY	LF	325	\$40.00	\$13,000.00	\$25.00	\$8,125.00	\$6.50	\$2,112.50	\$15.75	\$5,118.75
550-1 550-2	CHAIN LINK FENCE (4' TO 6' HGT) (TEMP) (F&I) CHAIN LINK FENCE (TEMP) (REMOVE)	LF LF	420 420	\$42.00 \$3.25	\$17,640.00 \$1,365.00	\$25.00 \$7.00	\$10,500.00 \$2,940.00	\$25.00 \$5.00	\$10,500.00 \$2,100.00	\$42.46 \$3.23	\$17,833.20 \$1,356.60
662-2054	WK ZN PAV MRK REMOV (REFL) TY II A-A	EA	464	\$4.20	\$1,948.80	\$4.13	\$1,916.32	\$3.75	\$1,740.00	\$4.30	\$1,995.20
662-2064	WK ZN PAV MRK REMOV (W) 4" (BRK)	LF	1,350	\$1.00	\$1,350.00	\$0.72	\$972.00	\$1.00	\$1,350.00	\$0.86	\$1,161.00
662-2065	WK ZN PAV MRK REMOV (W) 4" (DOT) WK ZN PAV MRK REMOV (W) 4" (SLD)	LF LF	250	\$3.15 \$1.00	\$787.50 \$16,645.00	\$0.72	\$180.00 \$11,984.40	\$1.00 \$1.00	\$250.00	\$1.08 \$0.86	\$270.00 \$14,314.70
662-2067 662-2079	WK ZN PAV MRK REMOV (W) 24" (SLD)	LF	16,645 420	\$1.00 \$6.30	\$16,645.00	\$0.72 \$9.90	\$11,984.40 \$4,158.00	\$1.00 \$8.00	\$16,645.00 \$3,360.00	\$0.86 \$5.16	\$14,314.70 \$2,167.20
662-2098	WK ZN PAV MRK REMOV (Y) 4" (DOT)	LF	160	\$3.15	\$504.00	\$0.72	\$115.20	\$1.00	\$160.00	\$1.08	\$172.80
662-2099 666-6099	WK ZN PAV MRK REMOV (Y) 4" (SLD) REF PAV MRK TY I(W)18" (YLD TRI)(100MIL)	LF EA	8,403 20	\$1.00 \$52.50	\$8,403.00 \$1,050.00	\$0.72 \$38.50	\$6,050.16 \$770.00	\$1.00 \$45.00	\$8,403.00 \$900.00	\$0.86 \$48.38	\$7,226.58 \$967.60
644	STREET NAME SIGNS	SET	9	\$190.00	\$1,710.00	\$400.00	\$3,600.00	\$425.00	\$3,825.00	\$322.50	\$2,902.50
644-2002	SMALL ROADSIDE SIGN ASMBLY (F&I)	EA	76	\$630.00	\$47,880.00	\$450.00	\$34,200.00	\$375.00	\$28,500.00	\$478.38	\$36,356.88
666-2024	REFL PAV MRK TY I (W) 4" (BRK) (100MIL) REFL PAV MRK TY I (W) 6" (SLD) (100MIL)	LF LF	680 4,804	\$1.05 \$1.60	\$714.00 \$7,686.40	\$0.66 \$0.99	\$448.80 \$4,755.96	\$1.00 \$1.00	\$680.00 \$4,804.00	\$0.97 \$1.45	\$659.60 \$6,965.80
666-2033	REFL PAV MRK TY I (W) 8" (LNDP) (100MIL)	LF	150	\$6.30	\$945.00	\$1.32	\$198.00	\$1.50	\$225.00	\$1.94	\$291.00
666-2045	REFL PAV MRK TY I (W) 18" (SLD) (100MIL)	LF LF	234 745	\$5.30	\$1,240.20	\$6.60	\$1,544.40	\$5.00	\$1,170.00	\$4.52	\$1,057.68
666-2048 666-2054	REFL PAV MRK TY I (W) 24" (SLD) (100MIL) REFL PAV MRK TY I (W) (ARROW) (100MIL)	EA	43	\$8.40 \$175.00	\$6,258.00 \$7,525.00	\$8.25 \$115.50	\$6,146.25 \$4,966.50	\$5.50 \$165.50	\$4,097.50 \$7,116.50	\$6.02 \$123.63	\$4,484.90 \$5,316.09
666-2096	REFL PAV MRK TY I (W) (WORD) (100MIL)	EA	3	\$160.00	\$480.00	\$121.00	\$363.00	\$185.50	\$556.50	\$134.38	\$403.14
666-2099	REFL PAV MRK TY I (W) 18" (YLD TRI) (100MIL)  REFL PAV MRK TY I (Y) 4" (BRK) (100MIL)	EA LF	25 1,210	\$53.00 \$1.05	\$1,325.00 \$1,270.50	\$38.50 \$0.66	\$962.50 \$798.60	\$45.00 \$1.00	\$1,125.00 \$1,210.00	\$48.38 \$0.97	\$1,209.50 \$1,173.70
666-2105 666-2111	REFL PAV MRK TY I (Y) 4" (BRK) (100MIL)  REFL PAV MRK TY I (Y) 4" (SLD) (100MIL)	LF	7,783	\$1.05 \$1.05	\$8,172.15	\$0.66	\$798.60	\$1.00	\$1,210.00 \$5,448.10	\$0.97	\$1,173.70 \$7,549.51
666-2117	REFL PAV MRK TY I (Y) 6" (DOT) (100MIL)	LF	1,175	\$4.20	\$4,935.00	\$0.99	\$1,163.25	\$1.00	\$1,175.00	\$1.45	\$1,703.75
666-2123 666-6163	REFL PAV MRK TY I (Y) 8" (SLD) (100MIL) REFL PAV MRK TY I (ACC PRK)(BL&WH)(W/BORDER)LG	LF EA	138	\$2.10 \$420.00	\$289.80 \$1,260.00	\$1.32 \$275.00	\$182.16 \$825.00	\$1.50 \$200.00	\$207.00 \$600.00	\$1.94 \$419.25	\$267.72 \$1,257.75
666-2057	"SHARROW" SHARED LANE PVT MARKING	EA	4	\$560.00	\$2,240.00	\$275.00 \$412.50	\$1,650.00	\$200.00	\$800.00	\$537.50	\$2,150.00
666-2063	BIKE SYMBOL AND ARROW(BIKE LANE)	EA	6	\$420.00	\$2,520.00	\$467.50	\$2,805.00	\$225.00	\$1,350.00	\$645.00	\$3,870.00
668-6090 672	PREFAB PAV MRK TY C (W)(SYMBOL)  REFL PAV MRKR TY I W-C (CITY OF DALLAS)(6-INCH CERAI	EA EA	3 287	\$200.00 \$12.60	\$600.00 \$3,616.20	\$192.50 \$16.50	\$577.50 \$4,735.50	\$225.00 \$15.50	\$675.00 \$4,448.50	\$241.88 \$31.18	\$725.64 \$8,948.66
672-2015	REFL PAV MRKR TYTW-C (CITY OF DALLAS)(6-INCH CERA)	EA	231	\$4.20	\$970.20	\$4.13	\$954.03	\$3.75	\$866.25	\$4.30	\$993.30
672-2032	REFL PAV MRKR TY I W-C (CITY OF DALLAS)	FA	139	\$4.20	\$583.80	\$4.13	\$574.07	\$3.75	\$521.25	\$4.30	\$597.70

TABULATION	P-6654 Opening Date: 03-30-2017  KRELL HILL ROAD MCIP PROJECT NO. 42301  DF MOLER STREET TO DAVIS STREET  GER: TED TEGENE, P.E.										
Bid No: 2017-	030-6654 Opening Date: 03-30-2017			Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4	
PROJECT: CC	OCKRELL HILL ROAD MCIP PROJECT NO. 42301			TISEO Paving	Company	Rebcon	1868	Ragle, Inc.		Ed Bell Constr	ruction Co.
LIMITS: NORT	TH OF MOLER STREET TO DAVIS STREET			P.O. Box 2700	40	W. Northwest	Hwy	P.O. Box 444		10605 Harry Hi	ines
PROJECT MAN	NAGER: TED TEGENE, P.E.			Dallas, TX. 752	227	Dallas, TX 752	20	Newburgh, IN	47629-0444	Dallas, TX 753	54-0787
				972.289.0723		PH: 972-444-8	230	PH: 817-285-6	060	PH: 214-358-6	581
	<b>-</b>			Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy	
	Contact			ltiseo@tiseopavi	ng.com	danny@rebcon.c	<u>om</u>	tragle@ragleinc.	<u>com</u>	info@edbellcons	truction.com
				MWBE FIRMS	were indicated on						
	MWBE			subn	nission	1	No				
	Dallas County Tax Payer	•		Y	'es	Y	'es			Y	/es
	Bid Bond Received			Yes		Yes		Yes		Yes	
	Addendums Returned			Y	'es	Yes		Yes		Yes	
	1295 Form			١	'es	Υ	'es	١	/es	١	/es
	Award Recommendation			Recommen	nd for Award						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
672-2033	REFL PAV MRKR TY II W-CR (CITY OF DALLAS)	EA	75	\$4.20	\$315.00	\$4.13	\$309.75	\$3.75	\$281.25	\$4.30	\$322.50
672-6017	TRAFFIC BUTTON TY Y (CITY OF DALLAS)(6-INCH CERAMIC		170	\$12.60	\$2,142.00	\$16.50	\$2,805.00	\$12.50	\$2,125.00	\$24.73	\$4,204.10
678-2001	PAV SURF PREP FOR MRK (4")	LF	7,951	\$0.05	\$397.55	\$0.11	\$874.61	\$0.05	\$397.55	\$0.11	\$874.61
678-2002	PAV SURF PREP FOR MRK (6")	LF	5,468	\$0.05	\$273.40	\$0.17	\$929.56	\$0.10	\$546.80	\$0.16	\$874.88

TABULATION :	SHEET										
Bid No: 2017-0				Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4	
PROJECT: CO LIMITS: NORT	OCKRELL HILL ROAD MCIP PROJECT NO. 42301 H OF MOLER STREET TO DAVIS STREET NAGER: TED TEGENE, P.E.			TISEO Paving P.O. Box 27004 Dallas, TX. 752 972.289.0723	40	Rebcon W. Northwest Dallas, TX 752 PH: 972-444-8	20	Ragle, Inc. P.O. Box 444 Newburgh, IN PH: 817-285-6		Ed Bell Constr 10605 Harry Hi Dallas, TX 7535 PH: 214-358-65	nes 54-0787
	Control			Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy	
	Contact			Itiseo@tiseopavi	·	danny@rebcon.c	<u>com</u>	tragle@ragleinc.o	<u>com</u>	info@edbellconst	truction.com
	MWBE			subn	were indicated on nission		No				
	Dallas County Tax Payer				es		'es	_			es
	Bid Bond Received				'es 'es		'es 'es		'es 'es		es es
	Addendums Returned 1295 Form				es 'es		res ′es		es ′es		es
	Award Recommendation				nd for Award						
ITEM	DESCRIPTION	UNIT	QUANTITY		EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
678-2003	PAV SURF PREP FOR MRK (8")	LF	210	\$0.05	\$10.50	\$0.22	\$46.20	\$0.15	\$31.50	\$0.22	\$46.20
678-2005 678-2019	PAV SURF PREP FOR MRK (18") PAV SURF PREP FOR MRK (BLST CLN)(18" YLD TRI)	LF EA	190 25	\$0.15 \$10.50	\$28.50 \$262.50	\$0.55 \$1.65	\$104.50 \$41.25	\$1.00 \$10.50	\$190.00 \$262.50	\$0.32 \$5.38	\$60.80 \$134.50
678-2019	PAV SURF PREP FOR MRK (BLST CLN)(18 YED TRI)  PAV SURF PREP FOR MRK (24")	LF	745	\$0.15	\$111.75	\$2.20	\$1,639.00	\$1.00	\$745.00	\$0.43	\$320.35
678-2028	PAV SURF PREP FOR MRK (BLST CLN)(ARRWS)	EA	34	\$10.50	\$357.00	\$11.00	\$374.00	\$15.00	\$510.00	\$10.75	\$365.50
678-2029	PAV SURF PREP FOR MRK (BLST CLN)(WORDS)	EA	3	\$10.50	\$31.50	\$11.00	\$33.00	\$25.00	\$75.00	\$10.75	\$32.25
678-1 678-2	PAV SURF PREP FOR MRK (SHARROW PAVT MARKING) PAV SURF PREP FOR MRK (BIKE SYMB & ARROW)	EA EA	6	\$10.50 \$10.50	\$42.00 \$63.00	\$16.50 \$22.00	\$66.00 \$132.00	\$25.00 \$50.00	\$100.00 \$300.00	\$37.63 \$43.00	\$150.52 \$258.00
1122-1	CURB INLET PROTECTION (INSTALL)	LF	320	\$4.20	\$1,344.00	\$4.40	\$1,408.00	\$2.50	\$800.00	\$4.30	\$1,376.00
1122-2	CURB INLET PROTECTION (REMOVÉ)	LF	320	\$0.60	\$192.00	\$2.00	\$640.00	\$1.00	\$320.00	\$0.54	\$172.80
1122-3	DROP INLET PROTECTION (INSTALL)	LF	240	\$4.20	\$1,008.00	\$4.40	\$1,056.00	\$2.00	\$480.00	\$4.30	\$1,032.00
1122-4 1122-2048	DROP INLET PROTECTION (REMOVE) BIODEGRADABLE EROSION CONTOL LOGS (12-IN DIA) (INS	LF LF	240 4.205	\$0.60 \$4.00	\$144.00 \$16.820.00	\$2.00 \$4.13	\$480.00 \$17.366.65	\$1.00 \$2.00	\$240.00 \$8.410.00	\$0.54 \$4.03	\$129.60 \$16,946.15
1122-2046	BIODEGRADABLE EROSION CONTOL LOGS (12-IN DIA) (INS	LF	4,205	\$0.80	\$3,364.00	\$2.00	\$8,410.00	\$1.00	\$4,205.00	\$0.81	\$3,406.05
1122-2002	ROCK FILTER DAMS (INSTALL) (TY 2)	LF	80	\$27.00	\$2,160.00	\$27.50	\$2,200.00	\$25.00	\$2,000.00	\$26.88	\$2,150.40
1122-2009	ROCKFILTER DAMS (REMOVE)	LF	80	\$11.00	\$880.00	\$15.00	\$1,200.00	\$12.00	\$960.00	\$10.75	\$860.00
1122-5 1122-6	EROSION CONTROL MATS (INSTALL) EROSION CONTROLMATS (REMOVE)	SY SY	320 320	\$3.00 \$2.00	\$960.00 \$640.00	\$2.20 \$2.00	\$704.00 \$640.00	\$1.80 \$1.00	\$576.00 \$320.00	\$2.15 \$1.08	\$688.00 \$345.60
1122-016	CONSTRUCTION EXITS (INSTALL) (TY 1)	SY	215	\$18.00	\$3,870.00	\$18.70	\$4,020.50	\$30.00	\$6,450.00	\$18.28	\$3,930.20
1122-2019	CONSTRUCTION EXITS (REMOVE)	SY	215	\$7.00	\$1,505.00	\$10.00	\$2,150.00	\$15.00	\$3,225.00	\$6.45	\$1,386.75
416-2031	DRILL SHAFT (TRF SIG POLE) (30 IN)	LF	36	\$265.00	\$9,540.00	\$286.00	\$10,296.00	\$255.00	\$9,180.00	\$275.00	\$9,900.00
416-2032 618-2050	DRILL SHAFT (TRF SIG POLE) (36 IN) CONDT (GALVANIZED) (RIGID) (1.5")	LF LF	14 168	\$280.00 \$24.00	\$3,920.00 \$4,032.00	\$302.50 \$25.80	\$4,235.00 \$4,334.40	\$275.00 \$12.00	\$3,850.00 \$2,016.00	\$291.50 \$24.75	\$4,081.00 \$4,158.00
618-2022	CONDT (GALVANIZED) (RIGID) (1.5 )  CONDT (PVC) (SCHD 40) (3")	LF	30	\$14.00	\$420.00	\$14.30	\$429.00	\$12.00	\$420.00	\$14.30	\$429.00
618-2024	CONDT (PVC) (SCHD 40) (4")	LF	239	\$13.00	\$3,107.00	\$15.40	\$3,680.60	\$24.00	\$5,736.00	\$12.65	\$3,023.35
620-2009	ELEC CONDR (NO.6) BARE	LF	10	\$1.05	\$10.50	\$1.16	\$11.60	\$1.00	\$10.00	\$1.10	\$11.00
620-2010 620-2011	ELEC CONDR (NO.6) INSULATED  ELEC CONDR (NO.8) BARE	LF LF	20 507	\$1.25 \$1.00	\$25.00 \$507.00	\$1.32 \$1.10	\$26.40 \$557.70	\$1.00 \$1.00	\$20.00 \$507.00	\$1.27 \$1.05	\$25.40 \$532.35
620-2011	ELEC CONDR (NO.8) INSULATED	LF	476	\$1.20	\$571.20	\$1.10	\$604.52	\$1.00	\$476.00	\$1.21	\$575.96
624-2011	GROUND BOX (TYPE C) (162911)	EA	7	\$710.00	\$4,970.00	\$770.00	\$5,390.00	\$950.00	\$6,650.00	\$742.50	\$5,197.50
628-2295	TYPE D (120/240) 070 (NS) GS € TP (O)	EA	1	\$5,000.00	\$5,000.00	\$5,346.00	\$5,346.00	\$7,506.00	\$7,506.00	\$5,225.00	\$5,225.00
680-2002 682-2001	INSTALL HWY TRF SIG (ISOLATED) BACK PLATE (12 IN) (3 SEC)	EA EA	6	\$48,200.00 \$63.00	\$48,200.00 \$378.00	\$50,479.00 \$71.50	\$50,479.00 \$429.00	\$46,300.00 \$150.00	\$46,300.00 \$900.00	\$63,000.00 \$66.00	\$63,000.00 \$396.00
682-2001	BACK PLATE (12 IN) (3 SEC)	EA	2	\$84.00	\$168.00	\$93.50	\$429.00 \$187.00	\$170.00	\$340.00	\$88.00	\$176.00
682-2012	LOUVER (12 IN) (ADJUSTABLE)	EA	6	\$270.00	\$1,620.00	\$291.50	\$1,749.00	\$250.00	\$1,500.00	\$280.50	\$1,683.00
682-2022	VEH SIG SEC (12 IN) LED (GRN ARW)	EA	2	\$270.00	\$540.00	\$286.00	\$572.00	\$360.00	\$720.00	\$275.00	\$550.00
682-2023 682-2024	VEH SIG SEC (12 IN) LED (GRN) VEH SIG SEC (12 IN) LED (YEL ARW)	EA EA	8 2	\$270.00 \$270.00	\$2,160.00 \$540.00	\$286.00 \$286.00	\$2,288.00 \$572.00	\$360.00 \$360.00	\$2,880.00 \$720.00	\$275.00 \$275.00	\$2,200.00 \$550.00
682-2025	VEH SIG SEC (12 IN) LED (YEL ARW)  VEH SIG SEC (12 IN) LED (YEL)	EA	8	\$270.00	\$2,160.00	\$286.00	\$2,288.00	\$360.00	\$2,880.00	\$275.00	\$2,200.00
682-2027	VEH SIG SEC (12 IN) LED (RED)	EA	8	\$270.00	\$2,160.00	\$286.00	\$2,288.00	\$360.00	\$2,880.00	\$275.00	\$2,200.00
682-2066	PED SIG SEC (12 IN) LED (COUNTDOWN)	EA	8	\$580.00	\$4,640.00	\$621.50	\$4,972.00	\$985.00	\$7,880.00	\$605.00	\$4,840.00
684-2031 684-2033	TRF SIG CBL (TY A) (14 AWG) (5 CONDR)  TRF SIG CBL (TY A) (14 AWG) (7 CONDR)	EA EA	305 135	\$1.30 \$1.50	\$396.50 \$202.50	\$1.43 \$1.65	\$436.15 \$222.75	\$2.00 \$2.00	\$610.00 \$270.00	\$1.32 \$1.54	\$402.60 \$207.90
684-2033	TRF SIG CBL (TY A) (14 AWG) (7 CONDR)  TRF SIG CBL (TY A) (14 AWG) (20 CONDR)	EA	316	\$1.50 \$5.60	\$202.50 \$1,769.60	\$1.65 \$6.38	\$2,016.08	\$2.00 \$4.00	\$1,264.00	\$1.54 \$5.78	\$207.90 \$1,826.48
686-2023	INS TRF SIG PL AM (S) 1 ARM (24')	EA	1	\$5,250.00	\$5,250.00	\$5,610.00	\$5,610.00	\$4,800.00	\$4,800.00	\$5,500.00	\$5,500.00
686-2025	INS TRF SIG PL AM (S) 1 ARM (24') LUM	EA	1	\$6,800.00	\$6,800.00	\$7,150.00	\$7,150.00	\$5,600.00	\$5,600.00	\$7,040.00	\$7,040.00
686-2027	INS TRE SIG PL AM(S) 1 ARM (28')	EA EA	1	\$5,800.00 \$8,000.00	\$5,800.00 \$8,000.00	\$6,160.00 \$8,580.00	\$6,160.00 \$8,580.00	\$5,050.00 \$7,800.00	\$5,050.00 \$7,800.00	\$6,050.00 \$8,360.00	\$6,050.00 \$8,360.00
686-2037 688-2001	INS TRF SIG PL AM (S) 1 ARM (36') LUM PED DETECT (2 INCH PUSH BTN)	EA	8	\$8,000.00	\$8,000.00	\$8,580.00 \$429.00	\$8,580.00	\$7,800.00	\$7,800.00	\$8,360.00 \$418.00	\$8,360.00
6266-2001	(VIVDS) VIDEO DETECTION PROCESSOR SYSTEM	EA	1	\$7,800.00	\$7,800.00	\$8,195.00	\$8,195.00	\$10,751.00	\$10,751.00	\$8,140.00	\$8,140.00
6266-2002	(VIVDS) VIDEO DETECTION CAMERA ASSEMBLY	EA	4	\$1,625.00	\$6,500.00	\$1,705.00	\$6,820.00	\$3,900.00	\$15,600.00	\$1,677.50	\$6,710.00
6266-2003 6266-2005	(VIVDS) VIDEO DETECTION SYSTEM SET-UP VIVDS COAX CABLE	EA LF	1 491	\$570.00 \$2.55	\$570.00 \$1,252.05	\$605.00 \$2.75	\$605.00 \$1,350.25	\$2,500.00 \$4.00	\$2,500.00 \$1,964.00	\$594.00 \$2.64	\$594.00 \$1,296.24
0200-2005	VIVUS COAX CABLE	LF	491	φ2.55	\$1,232.03	φ2./3	\$1,000.20	\$4.00	\$1,904.00	<b>\$∠.04</b>	ψ1,290.24
	SUBTOTAL SCHEDULE 1 - STA 14+65 TO STA 49+00				\$5,989,429.60		\$6,693,598.46		\$6,395,513.37		\$6,467,755.24

ABULATION											
id No: 2017-0	030-6654 Opening Date: 03-30-2017			Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4	
MITS: NORT	OCKRELL HILL ROAD MCIP PROJECT NO. 42301 IH OF MOLER STREET TO DAVIS STREET NAGER: TED TEGENE, P.E.			TISEO Paving P.O. Box 27004 Dallas, TX. 752 972.289.0723	10	Rebcon W. Northwest H Dallas, TX 7522 PH: 972-444-82	20	Ragle, Inc. P.O. Box 444 Newburgh, IN PH: 817-285-6		Ed Bell Consti 10605 Harry H Dallas, TX 753 PH: 214-358-6	ines 54-0787
				Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy	
	Contact			ltiseo@tiseopavii	ng.com	danny@rebcon.co	<u>om</u>	tragle@ragleinc.	<u>com</u>	info@edbellcons	truction.com
					were indicated on						
	MWBE Dallas County Tax Payer				nission		lo es				/es
	Bid Bond Received				es		es	v	'es		res res
	Addendums Returned				es		es		'es		res
	1295 Form			Y	es	Υ	es	Y	'es	,	/es
	Award Recommendation				nd for Award						
ITEM	DESCRIPTION	UNIT	QUANTITY		EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
100-2002	SCHEDULE 2 - STA 10+10 TO STA 14+65; STA 49+00 TO STA PREPARING RIGHT OF WAY	STS	ARED CITY LIMI 18	TS) \$5,380.00	\$96.840.00	\$7,500.00	\$135,000,00	\$15,000.00	\$270.000.00	\$9,450.00	\$170,100,00
104	SAWCUTTING (ASPHALT & CONCRETE)	LF	580	\$5.00	\$2,900.00	\$2.64	\$1,531.20	\$1.87	\$1,084.60	\$5.25	\$3,045.00
104-2001	REMOVING CONCRETE (PAVEMENT)	SY	48	\$6.50	\$312.00	\$18.56	\$890.88	\$13.00	\$624.00	\$15.00	\$720.00
104-2029 104-2015	REMOVING CONCRETE (CURB OR CURB AND GUTTER) REMOVING CONCRETE (SIDEWALK)	LF SY	1,657 105	\$1.50 \$3.70	\$2,485.50 \$388.50	\$2.91 \$8.41	\$4,821.87 \$883.05	\$5.50 \$13.00	\$9,113.50 \$1,365.00	\$7.50 \$7.50	\$12,427.50 \$787.50
104-2015	REMOVING CONCRETE (SIDEWALK) REMOVING CONC (DRIVEWAYS)	SY	237	\$3.70 \$5.25	\$388.50	\$12.62	\$2,990.94	\$13.00	\$1,365.00	\$7.50 \$15.00	\$3,555.00
105-2200	REMOVING STAB. BASE AND/OR ASPH. PVMT. (DEPTH UND	SY	9,125	\$4.20	\$38,325.00	\$3.96	\$36,135.00	\$5.25	\$47,906.25	\$7.35	\$67,068.75
110-2001	EXCAVATION (ROADWAY)	CY	5,439	\$13.80	\$75,058.20	\$20.91	\$113,729.49	\$24.00	\$130,536.00	\$15.75	\$85,664.25
132-2004 160-2003	EMBANKMENT (FINAL)(DC)(TY B) FURNISHING AND PLACING TOPSOIL (5 IN)	CY SY	287 2,697	\$5.00 \$5.50	\$1,435.00 \$14,833.50	\$27.28 \$5.24	\$7,829.36 \$14,132.28	\$24.00 \$4.50	\$6,888.00 \$12,136.50	\$15.75 \$2.10	\$4,520.25 \$5,663.70
162-2002	BLOCK SODDING	SY	2,697	\$5.65	\$15,238.05	\$6.55	\$17,665.35	\$3.18	\$8,576.46	\$4.20	\$11,327.40
247-2041	FLEX BASE (CMP IN PLC) (TY D GR 2) (FNAL POS)	SY	505	\$17.50	\$8,837.50	\$12.21	\$6,166.05	\$13.00	\$6,565.00	\$15.75	\$7,953.75
260-2002	LIME HYDRATED (SLURRY)	TON	276	\$230.00	\$63,480.00	\$157.30	\$43,414.80	\$145.00	\$40,020.00	\$157.50	\$43,470.00
260-2006 340-2011	LIME STABILIZED SUBGRADE (8-IN) (DC) (TYPE B) DENSE-GRADED HOT-MIX ASPHALT (METHOD) (TY B) PG 6	SY TON	9,415 111	\$4.90 \$193.25	\$46,133.50 \$21,450.75	\$3.87 \$184.69	\$36,436.05 \$20,500.59	\$4.50 \$167.90	\$42,367.50 \$18,636.90	\$4.20 \$85.00	\$39,543.00 \$9,435.00
340-2106	DENSE-GRADED HOT-MIX ASPHALT (METHOD) (TY D) PG 6		55	\$195.50	\$10,752.50	\$187.00	\$10,285.00	\$170.00	\$9,350.00	\$95.00	\$5,225.00
360	REINFORCED CONCRETE PAVEMENT (11-IN)(CL P)	SY	8,815	\$65.95	\$581,349.25	\$85.00	\$749,275.00	\$68.00	\$599,420.00	\$73.50	\$647,902.50
420-1 420-2	STREET HEADER (CONC TO CONC) STREET HEADER (CONC TO ASPH)	LF LF	100 123	\$35.00 \$35.00	\$3,500.00 \$4,305.00	\$20.00 \$15.00	\$2,000.00 \$1,845.00	\$60.00 \$60.00	\$6,000.00 \$7,380.00	\$31.50 \$31.50	\$3,150.00 \$3,874.50
479-2004	ADJUST MANHOLES (SANITARY)	EA	3	\$525.00	\$1,575.00	\$550.00	\$1,650.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
496	REMOVING OLD STRUCTURES (INLETS)	EA	2	\$800.00	\$1,600.00	\$825.00	\$1,650.00	\$750.00	\$1,500.00	\$825.00	\$1,650.00
496-2007	REMOVE OLD STRUCTURES (PIPE)	LF	51	\$21.00	\$1,071.00	\$22.00	\$1,122.00	\$20.00 \$1,500.00	\$1,020.00	\$22.00	\$1,122.00
496-2006 496-2008	RMOVING OLD STRUCTURES (HEADWALL) REMOVING OLD STRUCTURES (CULVERTS) at Meredith Inte	EA LF	2 64	\$1,600.00 \$16.00	\$3,200.00 \$1,024.00	\$1,650.00 \$16.50	\$3,300.00 \$1,056.00	\$1,500.00	\$3,000.00 \$960.00	\$1,650.00 \$16.50	\$3,300.00 \$1,056.00
529	CONCRETE CURB (COD) (MONO)	LF	2,707	\$2.00	\$5,414.00	\$2.00	\$5,414.00	\$6.00	\$16,242.00	\$3.15	\$8,527.05
530-1	DRIVEWAYS (CONC) (6-IN THCK)	SY	1,093	\$72.00	\$78,696.00	\$79.95	\$87,385.35	\$55.00	\$60,115.00	\$73.50	\$80,335.50
531-2002	REINF CONCRETE SIDEWALKS (4') (4") REINF CONCRETE SIDEWALKS (5') (4")	SY SY	9 1,359	\$53.00 \$53.00	\$477.00 \$72,027.00	\$64.59 \$53.30	\$581.31 \$72,434.70	\$45.00 \$45.00	\$405.00 \$61,155.00	\$48.00 \$48.00	\$432.00 \$65,232.00
531-2035 531-2010	CURB RAMP (TY 7)	EA	1,359	\$2,000.00	\$10,000.00	\$1,150.00	\$5,750.00	\$1,400.00	\$7,000.00	\$2,100.00	\$10,500.00
531-2018	CURB RAMP (SPECIAL)	EA	4	\$2,650.00	\$10,600.00	\$2,720.00	\$10,880.00	\$2,100.00	\$8,400.00	\$2,100.00	\$8,400.00
531-2022 531-2041	CURB RAMP (TY 7) (MOD) CURB RAMP (TY 10)	EA EA	3	\$2,450.00 \$2,000.00	\$2,450.00 \$6,000.00	\$2,250.00 \$1,200.00	\$2,250.00 \$3.600.00	\$1,400.00 \$1,750.00	\$1,400.00 \$5,250.00	\$2,100.00 \$2,100.00	\$2,100.00 \$6,300.00
531-2041	REINF CONCRETE SIDEWALK CURB (9-IN MAX HGT)	LF	- 3 - 56	\$2,000.00 \$37.00	\$6,000.00	\$1,200.00 \$11.00	\$3,600.00 \$616.00	\$1,750.00 \$10.00	\$5,250.00 \$560.00	\$2,100.00 \$21.00	\$6,300.00 \$1,176.00
902	RELOCATE FIRE HYDRANT	EA	2	\$1,600.00	\$3,200.00	\$1,650.00	\$3,300.00	\$1,500.00	\$3,000.00	\$1,650.00	\$3,300.00
5100J	8" GATE VALVE	EA	1	\$2,100.00	\$2,100.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00
20300 20330	ADJUST AND/OR RELOCATE WATER METERS WATER VALVE ADJUSTMENTS	EA EA	3 14	\$370.00 \$370.00	\$1,110.00 \$5,180.00	\$385.00 \$385.00	\$1,155.00 \$5,390.00	\$350.00 \$350.00	\$1,050.00 \$4,900.00	\$385.00 \$385.00	\$1,155.00 \$5,390.00
20330	ADJUST WASTEWATER LATERAL CLEANOUTS	EA	1	\$370.00	\$370.00	\$385.00	\$385.00	\$350.00	\$350.00	\$385.00	\$385.00
402-2001	TRENCH EXCAVATION PROTECTION	LF	1,593	\$2.00	\$3,186.00	\$1.10	\$1,752.30	\$1.00	\$1,593.00	\$1.00	\$1,593.00
432-2002	RIPRAP (CONC) (5-INCH)	CY LF	5 20	\$525.00 \$105.00	\$2,625.00 \$2,100.00	\$600.00 \$110.00	\$3,000.00 \$2,200.00	\$550.00 \$100.00	\$2,750.00 \$2,000.00	\$825.00 \$110.00	\$4,125.00
464-2003 464-2004	REINF. CONCRETE PIPE (18 IN) (CL III) REINF. CONCRETE PIPE (21 IN.)(CL. III)	LF	664	\$105.00 \$137.00	\$2,100.00	\$110.00 \$143.00	\$2,200.00	\$100.00	\$2,000.00	\$110.00 \$143.00	\$2,200.00 \$94,952.00
464-2005	REINF. CONCRETE PIPE (24 IN.)(CL. III)	LF	72	\$147.00	\$10,584.00	\$154.00	\$11,088.00	\$140.00	\$10,080.00	\$154.00	\$11,088.00
464-2009	REINF. CONCRETE PIPE (36 IN.)(CL. III)	LF	568	\$189.00	\$107,352.00	\$198.00	\$112,464.00	\$180.00	\$102,240.00	\$198.00	\$112,464.00
464-2010 465-2	REINF. CONCRETE PIPE (42 IN.)(CL. III)  MANH (COMPL) (JUNCT BOX) (TY M) (4X4)	LF EA	267 6	\$231.00 \$4,200.00	\$61,677.00 \$25,200.00	\$242.00 \$4,400.00	\$64,614.00 \$26,400.00	\$220.00 \$4,000.00	\$58,740.00 \$24,000.00	\$242.00 \$4,400.00	\$64,614.00 \$26,400.00
465-3	MANH (COMPL) (JUNCT BOX) (TY M) (4X4)  MANH (COMPL) (JUNCT BOX) (TY M) (5X5)	EA	1	\$4,200.00	\$4,725.00	\$4,950.00	\$4,950.00	\$4,500.00	\$4,500.00	\$4,400.00	\$4,950.00
465-4	MANH (COMPL) (JUNCT BOX) (TY M) (6X6)	EA	1	\$7,350.00	\$7,350.00	\$7,700.00	\$7,700.00	\$7,000.00	\$7,000.00	\$7,700.00	\$7,700.00
465-8	INLET (COMPL) (DROP) (TY Y-1) (4X4)	EA	1	\$3,675.00	\$3,675.00	\$3,850.00	\$3,850.00	\$3,500.00	\$3,500.00	\$3,850.00	\$3,850.00
465-10 465-11	6' CURB INLET 8' CURB INLET	EA EA	3	\$3,675.00 \$3,675.00	\$3,675.00 \$11,025.00	\$4,350.00 \$4,350.00	\$4,350.00 \$13,050.00	\$3,500.00 \$3,500.00	\$3,500.00 \$10,500.00	\$3,850.00 \$3,850.00	\$3,850.00 \$11,550.00

TABULATION S	SHEET											
Bid No: 2017-0				Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		T
LIMITS: NORT	CKRELL HILL ROAD MCIP PROJECT NO. 42301 H OF MOLER STREET TO DAVIS STREET NAGER: TED TEGENE, P.E.			TISEO Paving P.O. Box 2700 Dallas, TX. 752 972.289.0723	40	Rebcon W. Northwest I Dallas, TX 752 PH: 972-444-8	20	Ragle, Inc. P.O. Box 444 Newburgh, IN 4 PH: 817-285-6		Ed Bell Const 10605 Harry H Dallas, TX 753 PH: 214-358-6	ines 54-0787	
	011			Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy		4
	Contact			ltiseo@tiseopavi	ng.com	danny@rebcon.c	<u>om</u>	tragle@ragleinc.	<u>com</u>	info@edbellcons	struction.com	-
					were indicated on							
	MWBE				nission		No					_
	Dallas County Tax Payer				'es		'es	_			/es	_
	Bid Bond Received				/es		'es		es		Yes	-
	Addendums Returned				res .		'es		es		Yes	
	1295 Form				/es	Y	'es	Y	'es		Yes	-
	Award Recommendation		OHANEST?		nd for Award	LINUT DOIGE	EVERNOON	LIANT DRICE	EVERYOR	LIMIT DDIG	EVTENSOR	4
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	-
465-13 465-14	14' CURB INLET 20' CURB INLET	EA EA	7	\$5,775.00 \$7,348.95	\$40,425.00 \$22,046.85	\$6,550.00 \$8,198.90	\$45,850.00 \$24,596.70	\$5,500.00 \$6,999.00	\$38,500.00 \$20,997.00	\$6,050.00 \$7,700.00	\$42,350.00 \$23,100.00	₩
905	CONNECTION TO EXISTING 24" STORM SYSTEM	EA	1	\$2,100.00	\$2,100.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	$\vdash$
508-2002	CONSTRUCT DETOURS	SY	392	\$60.00	\$23,520.00	\$109.18	\$42,798.56	\$40.00	\$15,680.00	\$63.00	\$24,696.00	1
662-2054	WK ZN PAV MRK REMOV (REFL) TY II A-A	EA	354	\$4.20	\$1,486.80	\$4.13	\$1,462.02	\$3.75	\$1,327.50	\$4.30	\$1,522.20	
662-2067 644	WK ZN PAV MRK REMOV (W) 4" (SLD) STREET NAME SIGNS	LF SET	5,295 7	\$1.00 \$190.00	\$5,295.00 \$1,330.00	\$0.72 \$400.00	\$3,812.40 \$2,800.00	\$1.00 \$425.00	\$5,295.00 \$2,975.00	\$0.86 \$322.50	\$4,553.70 \$2,257.50	<del> </del>
644-2002	SMALL ROADSIDE SIGN ASMBLY (F&I)	EA	14	\$630.00	\$8,820.00	\$450.00	\$6,300.00	\$375.00	\$5,250.00	\$478.38	\$6,697.32	<del>                                     </del>
666-2003	REFL PAV MRK TY I (W) 4" (BRK) (100MIL)	LF	440	\$1.05	\$462.00	\$0.66	\$290.40	\$1.00	\$440.00	\$0.97	\$426.80	
666-2024	REFL PAV MRK TY I (W) 6" (SLD) (100MIL)	LF	348	\$1.35	\$469.80	\$0.99	\$344.52	\$1.00	\$348.00	\$1.45	\$504.60	
666-2045 666-2054	REFL PAV MRK TY I (W) 18" (SLD) (100MIL) REFL PAV MRK TY I (W) (ARROW) (100MIL)	LF EA	86 8	\$5.25 \$157.50	\$451.50 \$1,260.00	\$6.60 \$115.50	\$567.60 \$924.00	\$5.00 \$165.50	\$430.00 \$1,324.00	\$4.52 \$123.63	\$388.72 \$989.04	-
666-2096	REFL PAV MRK TY I (W) (WORD) (100MIL)	EA	4	\$157.50	\$630.00	\$115.50	\$484.00	\$185.50	\$7,324.00	\$123.63	\$537.52	1
666-2105	REFL PAV MRK TY I (Y) 4" (BRK) (100MIL)	LF	209	\$1.05	\$219.45	\$0.66	\$137.94	\$1.00	\$209.00	\$0.97	\$202.73	1
666-2111	REFL PAV MRK TY I (Y) 4" (SLD) (100MIL)	LF	3,485	\$1.05	\$3,659.25	\$0.66	\$2,300.10	\$0.70	\$2,439.50	\$0.97	\$3,380.45	
666-2123	REFL PAV MRK TY I (Y) 8" (SLD) (100MIL)	LF	20	\$2.10	\$42.00	\$1.32	\$26.40	\$1.50	\$30.00	\$1.94	\$38.80	
672-2015 672-2032	REFL PAV MRKR TY II-A-A (YELLOW) REFL PAV MRKR TY I W-C (CITY OF DALLAS)	EA EA	46 40	\$4.20 \$4.20	\$193.20 \$168.00	\$4.13 \$4.13	\$189.98 \$165.20	\$3.75 \$3.75	\$172.50 \$150.00	\$4.30 \$4.30	\$197.80 \$172.00	-
672-2033	REFL PAV MRKR TY II W-CR (CITY OF DALLAS)	EA	39	\$4.20	\$163.80	\$4.13	\$161.07	\$3.75	\$146.25	\$4.30	\$167.70	
678-2001	PAV SURF PREP FOR MRK (4")	LF	4,134	\$0.05	\$206.70	\$0.11	\$454.74	\$0.05	\$206.70	\$0.11	\$454.74	
		LF	348	\$0.05	\$17.40	\$0.17	\$59.16	\$0.10	\$34.80	\$0.16	\$55.68	
678-2002	PAV SURF PREP FOR MRK (6")	LF	20	\$0.05	\$1.00	\$0.22	\$4.40	\$0.15	\$3.00	\$0.22	\$4.40	
678-2003 678-2005	PAV SURF PREP FOR MRK (8") PAV SURF PREP FOR MRK (18")	LF	86	\$0.05	\$1.00	\$1.65	\$4.40 \$141.90	\$1.00	\$86.00	\$0.22	\$27.52	
678-2028	PAV SURF PREP FOR MRK (BLST CLN)(ARRWS)	EA	8	\$10.50	\$84.00	\$11.00	\$88.00	\$15.00	\$120.00	\$10.75	\$86.00	1
678-2029	PAV SURF PREP FOR MRK (BLST CLN)(WORDS)	EA	4	\$10.50	\$42.00	\$11.00	\$44.00	\$25.00	\$100.00	\$10.75	\$43.00	
1122-1 1122-2	CURB INLET PROTECTION (INSTALL) CURB INLET PROTECTION (REMOVE)	LF LF	360 360	\$4.20 \$0.60	\$1,512.00 \$216.00	\$4.40 \$2.00	\$1,584.00 \$720.00	\$4.00 \$2.00	\$1,440.00 \$720.00	\$4.30 \$0.54	\$1,548.00 \$194.40	<b>.</b>
1122-2	DROP INLET PROTECTION (REMOVE)	LF	120	\$4.20	\$504.00	\$4.40	\$528.00	\$4.00	\$480.00	\$4.30	\$516.00	1
1122-4	DROP INLET PROTECTION (REMOVE)	LF	120	\$0.60	\$72.00	\$2.00	\$240.00	\$2.00	\$240.00	\$0.54	\$64.80	1
1122-2048	BIODEGRADABLE EROSION CONTOL LOGS (12-IN DIA) (INS	LF	866	\$4.00	\$3,464.00	\$4.13	\$3,576.58	\$3.00	\$2,598.00	\$4.03	\$3,489.98	
1122-2056 1122-2002	BIODEGRADABLE EROSION CONTROL LOGS (REMOVE) ROCK FILTER DAMS (INSTALL) (TY 2)	LF LF	866 100	\$1.00 \$27.00	\$866.00 \$2,700.00	\$2.00 \$27.50	\$1,732.00 \$2,750.00	\$1.00 \$20.00	\$866.00 \$2,000.00	\$0.81 \$26.88	\$701.46 \$2,688.00	1
1122-2002	ROCK FILTER DAMS (INSTALL) (1Y 2) ROCKFILTER DAMS (REMOVE)	LF	100	\$27.00 \$11.00	\$2,700.00	\$27.50 \$15.00	\$2,750.00	\$20.00	\$2,000.00	\$20.88	\$2,688.00	$\vdash$
1122-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	SY	240	\$18.00	\$4,320.00	\$18.70	\$4,488.00	\$18.00	\$4,320.00	\$18.28	\$4,387.20	
1122-2019	CONSTRUCTION EXITS (REMOVE)	SY	240	\$7.00	\$1,680.00	\$10.00	\$2,400.00	\$10.00	\$2,400.00	\$6.45	\$1,548.00	ļ
	SUBTOTAL SCHEDULE 2 - STA 10+10 TO STA 14+65; STA 49	9+00 TO ST	A 62+10		\$1,664,917.15		\$1,926,643.24		\$1,837,124.96		\$1,814,496.71	
	SCHEDULE 3 - STA 62+00 TO STA 75+36 (CITY OF DALLAS)			<del> </del>		+					1	$\vdash$
100-2002	PREPARING RIGHT OF WAY	STA	13	\$5,380.00	\$69,940.00	\$7,500.00	\$97,500.00	\$15,000.00	\$195,000.00	\$9,450.00	\$122,850.00	
104	SAWCUTTING (ASPHALT & CONCRETE)	LF	302	\$5.00	\$1,510.00	\$2.64	\$797.28	\$1.87	\$564.74	\$5.25	\$1,585.50	1
104-2015 104-2017	REMOVING CONCRETE (SIDEWALK) REMOVING CONC (DRIVEWAYS)	SY SY	12 272	\$4.00 \$6.00	\$48.00 \$1.632.00	\$8.41 \$12.62	\$100.92 \$3.432.64	\$13.00 \$15.00	\$156.00 \$4.080.00	\$7.50 \$15.00	\$90.00 \$4.080.00	<b>!</b>
104-2017	REMOVING CONC (DRIVEWAYS)  REMOVING STAB. BASE AND/OR ASPH. PVMT. (DEPTH UND	SY	6,202	\$6.00 \$4.25	\$1,632.00 \$26,358.50	\$12.62 \$3.90	\$3,432.64 \$24,187.80	\$15.00 \$5.25	\$4,080.00 \$32,560.50	\$15.00 \$7.35	\$4,080.00 \$45,584.70	<del>                                     </del>
110-2001	EXCAVATION (ROADWAY)	CY	6,959	\$13.80	\$96,034.20	\$20.91	\$145,512.69	\$24.00	\$167,016.00	\$15.75	\$109,604.25	
132-2004	EMBANKMENT (FINAL)(DC)(TY B)	CY	132	\$5.00	\$660.00	\$27.28	\$3,600.96	\$24.00	\$3,168.00	\$15.75	\$2,079.00	
160-2003	FURNISHING AND PLACING TOPSOIL (5 IN)	SY	2,855	\$5.50	\$15,702.50	\$5.24	\$14,960.20	\$4.50	\$12,847.50	\$2.10	\$5,995.50	<b>!</b>
162-2002 247-2041	BLOCK SODDING FLEX BASE (CMP IN PLC) (TY D GR 2) (FNAL POS)	SY SY	2,855 483	\$5.65 \$17.50	\$16,130.75 \$8,452.50	\$6.55 \$12.21	\$18,700.25 \$5,897.43	\$3.18 \$12.00	\$9,078.90 \$5,796.00	\$4.20 \$15.75	\$11,991.00 \$7,607.25	<del>                                     </del>
260-2002	LIME HYDRATED (SLURRY)	TON	214	\$230.00	\$49,220.00	\$157.30	\$33,662.20	\$12.00	\$31,030.00	\$157.50	\$33,705.00	
260-2006	LIME STABILIZED SUBGRADE (8-IN) (DC) (TYPE B)	SY	7,192	\$4.90	\$35,240.80	\$3.87	\$27,833.04	\$4.00	\$28,768.00	\$4.20	\$30,206.40	
340-2011	DENSE-GRADED HOT-MIX ASPHALT (METHOD) (TY B) PG 6	TON	81	\$193.25	\$15,653.25	\$184.69	\$14,959.89	\$167.90	\$13,599.90	\$85.00	\$6,885.00	1
340-2106	DENSE-GRADED HOT-MIX ASPHALT (METHOD) (TY D) PG 6	TON	41	\$195.50	\$8,015.50	\$187.00	\$7,667.00	\$170.00	\$6,970.00	\$95.00	\$3,895.00	

TABULATION :	SHEET										
Bid No: 2017-0				Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4	
PROJECT: CO LIMITS: NORT	OCKRELL HILL ROAD MCIP PROJECT NO. 42301 TH OF MOLER STREET TO DAVIS STREET NAGER: TED TEGENE, P.E.			TISEO Paving P.O. Box 2700- Dallas, TX. 752 972.289.0723	40	Rebcon W. Northwest I Dallas, TX 752: PH: 972-444-8	Hwy 20	Ragle, Inc. P.O. Box 444 Newburgh, IN PH: 817-285-6		Ed Bell Constr 10605 Harry Hi Dallas, TX 753 PH: 214-358-65	lines 354-0787
				Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy	,
	Contact			ltiseo@tiseopavi	ng.com	danny@rebcon.c	<u>:om</u>	tragle@ragleinc.	<u>com</u>	info@edbellcons	struction.com
	MWBE Dallas County Tax Payer			subn	were indicated on mission		No /es			ļ.,	Yes
	Bid Bond Received				res		res	,	/es		Yes
	Addendums Returned				res res		res res		res res		Yes
	1295 Form				/es		es es		/es		Yes
	Award Recommendation				nd for Award		es		res		res
ITEM	DESCRIPTION	LINUT	OLIANITITY	UNIT PRICE	EXTENSION	LINIT PRIOF	EVTENDION	LINUT DDIOE	EVTENDION	LINIT PRIOF	EVERNOION
		UNIT	QUANTITY			UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
360 420-1	REINFORCED CONCRETE PAVEMENT (11-IN)(CL P) STREET HEADER (CONC TO CONC)	SY LF	7,089 22	\$65.95 \$35.00	\$467,519.55 \$770.00	\$85.00 \$20.00	\$602,565.00 \$440.00	\$68.00 \$60.00	\$482,052.00 \$1,320.00	\$73.50 \$31.50	\$521,041.50 \$693.00
420-1	STREET HEADER (CONC TO CONC)  STREET HEADER (CONC TO ASPH)	LF	146	\$35.00	\$5,110.00	\$15.00	\$2,190.00	\$60.00	\$8,760.00	\$31.50	\$4,599.00
479-2001	ADJUST MANHOLES (OTHERS)	EA	0	\$200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$5,000.00	\$0.00
479-2004	ADJUST MANHOLES (SANITARY)	EA	2	\$105.00	\$210.00	\$110.00	\$220.00	\$100.00	\$200.00	\$100.00	\$200.00
529	CONCRETE CURB (COD) (MONO)	LF	2,243	\$2.00	\$4,486.00	\$2.00	\$4,486.00	\$5.25	\$11,775.75	\$3.15	\$7,065.45
530-1	DRIVEWAYS (CONC) (6-IN THCK)	SY	302	\$72.00	\$21,744.00	\$79.95	\$24,144.90	\$60.00	\$18,120.00	\$73.50	\$22,197.00
530-2	DRIVEWAYS (CONC) (8-IN THCK)	SY	167	\$88.00	\$14,696.00	\$93.27	\$15,576.09	\$65.00 \$45.00	\$10,855.00	\$84.00	\$14,028.00
531-2035 531-2040	REINF CONCRETE SIDEWALKS (5') (4") CURB RAMP (TY 5)	SY EA	1,274	\$53.00 \$2,450.00	\$67,522.00 \$4,900.00	\$53.30 \$2,240.00	\$67,904.20 \$4,480.00	\$45.00 \$1,250.00	\$57,330.00 \$2,500.00	\$48.00 \$2,100.00	\$61,152.00 \$4,200.00
531-2040	MONOLITHIC MEDIAN NOSE	EA	1	\$3,000.00	\$3,000.00	\$2,240.00	\$1,850.00	\$3,000.00	\$2,500.00	\$2,100.00	\$4,200.00
536-2002	REINF CONC MEDIAN (4-IN THICK)	SY	33	\$105.00	\$3,465.00	\$82.73	\$2,730.09	\$80.00	\$2,640.00	\$48.00	\$1,584.00
902	RELOCATE FIRE HYDRANT	EA	1	\$1,600.00	\$1,600.00	\$1,650.00	\$1,650.00	\$1,500.00	\$1,500.00	\$1,650.00	\$1,650.00
20330	WATER VALVE ADJUSTMENTS	EA	7	\$105.00	\$735.00	\$110.00	\$770.00	\$100.00	\$700.00	\$100.00	\$700.00
402-2001	TRENCH EXCAVATION PROTECTION	LF	1,311	\$2.00	\$2,622.00	\$1.10	\$1,442.10	\$1.00	\$1,311.00	\$1.00	\$1,311.00
432-2002	RIPRAP (CONC) (5-INCH)	CY	10	\$525.00	\$5,250.00	\$600.00	\$6,000.00	\$550.00	\$5,500.00	\$825.00	\$8,250.00
450-6042	RAIL (TY PR1) REINF. CONCRETE PIPE (21 IN.)(CL. III)	LF LF	20	\$315.00	\$6,300.00	\$100.00	\$2,000.00 \$32,175.00	\$90.00	\$1,800.00	\$220.00	\$4,400.00
464-2004 464-2005	REINF. CONCRETE PIPE (21 IN.)(CL. III)  REINF. CONCRETE PIPE (24 IN.)(CL. III)	LF LF	225 330	\$137.00 \$147.00	\$30,825.00 \$48,510.00	\$143.00 \$154.00	\$50,820.00	\$130.00 \$140.00	\$29,250.00 \$46,200.00	\$143.00 \$154.00	\$32,175.00 \$50,820.00
464-2009	REINF. CONCRETE PIPE (36 IN.)(CL. III)	LF	756	\$189.00	\$142,884.00	\$198.00	\$149,688.00	\$180.00	\$136,080.00	\$198.00	\$149.688.00
465-1	MANH (COMP) (JUNCT BOX) (TY M) (3X6)	EA	1	\$5,250.00	\$5,250.00	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00
465-2	MANH (COMPL) (JUNCT BOX) (TY M) (4X4)	EA	3	\$3,675.00	\$11,025.00	\$3,850.00	\$11,550.00	\$3,500.00	\$10,500.00	\$3,850.00	\$11,550.00
465-7	INLET (COMPL) (DROP) (TY Y-1) (3X3)	EA	1	\$3,675.00	\$3,675.00	\$3,850.00	\$3,850.00	\$3,500.00	\$3,500.00	\$3,850.00	\$3,850.00
465-9	INLET (COMPL) (PSL) (FG) 3FTX3FT - 3FTX3FT)	EA EA	1	\$3,675.00	\$3,675.00	\$3,850.00 \$4,900.00	\$3,850.00	\$3,500.00 \$4,000.00	\$3,500.00	\$3,850.00	\$3,850.00
465-12 465-14	10' CURB INLET 20' CURB INLET	EA	4	\$4,200.00 \$6,300.00	\$16,800.00 \$6,300.00	\$7,100.00	\$19,600.00 \$7,100.00	\$4,000.00	\$16,000.00 \$6,000.00	\$4,400.00 \$7,700.00	\$17,600.00 \$7,700.00
508-2002	CONSTRUCT DETOURS	SY	295	\$60.00	\$17,700.00	\$109.18	\$32,208.10	\$40.00	\$11,800.00	\$63.00	\$18,585.00
662-2054	WK ZN PAV MRK REMOV (REFL) TY II A-A	EA	224	\$4.20	\$940.80	\$4.13	\$925.12	\$3.75	\$840.00	\$4.30	\$963.20
662-2067	WK ZN PAV MRK REMOV (W) 4" (SLD)	LF	3,570	\$1.00	\$3,570.00	\$0.72	\$2,570.40	\$1.00	\$3,570.00	\$0.86	\$3,070.20
644	STREET NAME SIGNS	SET	4	\$190.00	\$760.00	\$400.00	\$1,600.00	\$425.00	\$1,700.00	\$322.50	\$1,290.00
644-2002	SMALL ROADSIDE SIGN ASMBLY (F&I)	EA	3	\$630.00	\$1,890.00	\$450.00	\$1,350.00	\$375.00	\$1,125.00	\$478.38	\$1,435.14
666-2003	REFL PAV MRK TY I (W) 4" (BRK) (100MIL) REFL PAV MRK TY I (W) 6" (SLD) (100MIL)	LF LF	630 1,174	\$1.05 \$1.35	\$661.50 \$1,584.90	\$0.66 \$0.99	\$415.80	\$1.00 \$1.00	\$630.00 \$1,174.00	\$0.97 \$1.45	\$611.10
666-2024 666-2045	REFL PAV MRK TYT(W) 6" (SLD) (100MIL)  REFL PAV MRK TYT(W) 18" (SLD) (100MIL)	LF LF	1,174	\$1.35 \$5.25	\$1,584.90 \$908.25	\$0.99 \$6.60	\$1,162.26 \$1,141.80	\$1.00 \$5.00	\$1,174.00 \$865.00	\$1.45 \$4.52	\$1,702.30 \$781.96
666-2054	REFL PAV MRK TYT (W) 18 (SLD) (100MIL)	EA	4	\$175.00	\$700.00	\$115.50	\$462.00	\$165.50	\$662.00	\$123.63	\$494.52
666-2096	REFL PAV MRK TY I (W) (WORD) (100MIL)	EA	4	\$160.00	\$640.00	\$121.00	\$484.00	\$185.50	\$742.00	\$134.38	\$537.52
666-2111	REFL PAV MRK TY I (Y) 4" (SLD) (100MIL)	LF	3,077	\$1.05	\$3,230.85	\$0.66	\$2,030.82	\$0.70	\$2,153.90	\$0.97	\$2,984.69
666-2117	REFL PAV MRK TY I (Y) 6" (DOT) (100MIL)	LF	133	\$4.20	\$558.60	\$0.99	\$131.67	\$1.00	\$133.00	\$1.45	\$192.85
666-2123	REFL PAV MRK TY I (Y) 8" (SLD) (100MIL)	LF	262	\$2.10	\$550.20	\$1.32	\$345.84	\$1.50	\$393.00	\$1.94	\$508.28
672-2015	REFL PAV MRKR TY II-A-A (YELLOW) REFL PAV MRKR TY II W-CR (CITY OF DALLAS)	EA EA	118 126	\$4.20	\$495.60	\$4.13	\$487.34	\$3.75 \$3.75	\$442.50	\$4.30	\$507.40
672-2033 678-2001	PAV SURF PREP FOR MRK (4")	LF.	3,707	\$4.20 \$0.05	\$529.20 \$185.35	\$4.13 \$0.11	\$520.38 \$407.77	\$3.75 \$0.05	\$472.50 \$185.35	\$4.30 \$0.11	\$541.80 \$407.77
678-2001	PAV SURF PREP FOR MRK (6")	LF	1,174	\$0.05	\$58.70	\$0.17	\$199.58	\$0.10	\$117.40	\$0.16	\$187.84
678-2003	PAV SURF PREP FOR MRK (8")	LF	262	\$0.05	\$13.10	\$0.22	\$57.64	\$0.15	\$39.30	\$0.22	\$57.64
678-2004	PAV SURF PREP FOR MRK (18")	LF	173	\$0.15	\$25.95	\$0.55	\$95.15	\$1.00	\$173.00	\$0.32	\$55.36
678-2028	PAV SURF PREP FOR MRK (BLST CLN)(ARRWS)	EA	4	\$10.50	\$42.00	\$11.00	\$44.00	\$15.00	\$60.00	\$10.75	\$43.00
678-2029	PAV SURF PREP FOR MRK (BLST CLN)(WORDS)	EA	4	\$10.50	\$42.00	\$11.00	\$44.00	\$25.00	\$100.00	\$10.75	\$43.00
1122-3	DROP INLET PROTECTION (INSTALL)	LF	40	\$4.20	\$168.00	\$4.40	\$176.00	\$3.00	\$120.00	\$4.30	\$172.00
1122-4 1122-2048	DROP INLET PROTECTION (REMOVE) BIODEGRADABLE EROSION CONTOL LOGS (12-IN DIA) (INS	LF LF	40 80	\$0.60 \$4.00	\$24.00 \$320.00	\$2.00 \$4.13	\$80.00 \$330.40	\$1.00 \$3.00	\$40.00 \$240.00	\$0.54 \$4.03	\$21.60 \$322.40
1122-2048	IDIODEGRADABLE EKOSION CONTOL LOGS (12-IN DIA) (INS										
1122-2056	BIODEGRADABLE EROSION CONTROL LOGS (REMOVE)	LF	80	\$1.00	\$80.00	\$2.00	1 \$160 nn	\$2.00	\$160.00	\$0.81	\$64.80
1122-2056 1122-2002	BIODEGRADABLE EROSION CONTROL LOGS (REMOVE) ROCK FILTER DAMS (INSTALL) (TY 2)	LF LF	80 20	\$1.00 \$27.00	\$80.00 \$540.00	\$2.00 \$27.50	\$160.00 \$550.00	\$2.00 \$35.00	\$160.00 \$700.00	\$0.81 \$26.88	\$64.80 \$537.60

No: 2017-0	SHEET 30-6654 Opening Date: 03-30-2017			Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		7
OJECT: CO	CKRELL HILL ROAD MCIP PROJECT NO. 42301 H OF MOLER STREET TO DAVIS STREET AGER: TED TEGENE, P.E.			TISEO Paving P.O. Box 2700 Dallas, TX. 752 972.289.0723	40	Rebcon W. Northwest Dallas, TX 752 PH: 972-444-8	20	Ragle, Inc. P.O. Box 444 Newburgh, IN PH: 817-285-6		Ed Bell Constr 10605 Harry H Dallas, TX 753 PH: 214-358-6	ines 54-0787	
				Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy		
	Contact			ltiseo@tiseopavi	ing.com	danny@rebcon.c	<u>om</u>	tragle@ragleinc.	<u>com</u>	info@edbellcons	truction.com	1
				MWBE FIRMS	were indicated on							
	MWBE				mission		No				_	_
	Dallas County Tax Payer				/es		'es		-		'es	4
	Bid Bond Received Addendums Returned				res res		'es 'es		'es 'es		/es /es	-
	1295 Form				Yes		'es		'es		/es	-
	Award Recommendation				nd for Award							
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	J
1122-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	SY SY	160	\$18.00 \$7.00	\$2,880.00 \$1,120.00	\$18.70 \$10.00	\$2,992.00 \$1,600.00	\$25.00 \$15.00	\$4,000.00 \$2,400.00	\$18.28	\$2,924.80 \$1,032.00	₩
1122-2019	CONSTRUCTION EXITS (REMOVE)	δY	160	φ7.00	\$1,120.00	\$10.00	φ1,000.00	\$15.UU	\$2,400.00	\$6.45	\$1,032.00	+
	SUBTOTAL SCHEDULE 3 - STA 62+00 TO STA 75+36				\$1,263,910.55		\$1,474,265.75		\$1,411,367.24		\$1,363,828.32	1
	SCHEDULE 4 - DAVIS STREET DRAINAGE				<del>                                     </del>							+
100-2002	PREPARING RIGHT OF WAY	STA	2	\$5,380.00	\$10,760.00	\$4,625.30	\$9,250.60	\$15,000.00	\$30,000.00	\$7,350.00	\$14,700.00	
105-2200 160-2003	REMOVING STAB. BASE AND/OR ASPH. PVMT. (DEPTH UND FURNISHING AND PLACING TOPSOIL (5 IN)	SY SY	128 310	\$5.00 \$5.50	\$640.00 \$1,705.00	\$5.92 \$5.24	\$757.76 \$1.624.40	\$5.25 \$4.50	\$672.00 \$1,395.00	\$21.00 \$2.10	\$2,688.00 \$651.00	4
160-2003	BLOCK SODDING	SY	310 310	\$5.50 \$5.65	\$1,705.00 \$1,751.50	\$5.24 \$6.55	\$1,624.40 \$2,030.50	\$4.50 \$3.18	\$1,395.00 \$985.80	\$2.10 \$4.20	\$651.00 \$1,302.00	+
247-2041	FLEX BASE (CMP IN PLC) (TY D GR 2) (FNAL POS)	SY	128	\$17.50	\$2,240.00	\$12.21	\$1,562.88	\$13.00	\$1,664.00	\$15.75	\$2,016.00	T
340-2011	DENSE-GRADED HOT-MIX ASPHALT (METHOD) (TY B) PG 6	TON	22	\$193.25	\$4,251.50	\$184.69	\$4,063.18	\$167.90	\$3,693.80	\$85.00	\$1,870.00	$\perp$
340-2106 496-2007	DENSE-GRADED HOT-MIX ASPHALT (METHOD) (TY D) PG 6 REMOVE OLD STRUCTURES (PIPE)	TON LF	11 85	\$195.50 \$27.00	\$2,150.50 \$2,295.00	\$187.00 \$27.50	\$2,057.00 \$2,337.50	\$170.00 \$25.00	\$1,870.00 \$2,125.00	\$95.00 \$27.50	\$1,045.00 \$2,337.50	+
496-2006	RMOVING OLD STRUCTURES (HEADWALL)	W	1	\$1,600.00	\$1,600.00	\$1,650.00	\$1,650.00	\$1,500.00	\$1,500.00	\$1,650.00	\$1,650.00	+
402-2001	TRENCH EXCAVATION PROTECTION	LF	211	\$2.00	\$422.00	\$1.10	\$232.10	\$1.00	\$211.00	\$1.00	\$211.00	
432-2002	RIPRAP (CONC) (5-INCH) REINF. CONCRETE PIPE (24 IN.)(CL. III)	CY LF	5	\$525.00	\$2,625.00 \$1,176.00	\$600.00 \$154.00	\$3,000.00	\$550.00 \$140.00	\$2,750.00	\$825.00	\$4,125.00	+
464-2005 464-2009	REINF. CONCRETE PIPE (24 IN.)(CL. III) REINF. CONCRETE PIPE (36 IN.)(CL. III)	LF LF	8 93	\$147.00 \$189.00	\$1,176.00 \$17,577.00	\$154.00 \$198.00	\$1,232.00 \$18,414.00	\$140.00 \$180.00	\$1,120.00 \$16,740.00	\$154.00 \$198.00	\$1,232.00 \$18,414.00	+
465-3	MANH (COMPL) (JUNCT BOX) (TY M) (5X5)	EA	2	\$4,200.00	\$8,400.00	\$4,400.00	\$8,800.00	\$4,000.00	\$8,000.00	\$4,400.00	\$8,800.00	
465-9	INLET (COMPL) (PSL) (FG) 3FTX3FT - 3FTX3FT)	EA	1	\$3,675.00	\$3,675.00	\$3,850.00	\$3,850.00	\$3,500.00	\$3,500.00	\$3,850.00	\$3,850.00	4
476-6024 1122-3	36 IN RCP (CL III) (BY BORE) DROP INLET PROTECTION (INSTALL)	LF LF	110 120	\$735.00 \$5.00	\$80,850.00 \$600.00	\$770.00 \$4.40	\$84,700.00 \$528.00	\$700.00 \$3.00	\$77,000.00 \$360.00	\$1,000.00 \$4.30	\$110,000.00 \$516.00	+
1122-4	DROP INLET PROTECTION (REMOVE)	LF	120	\$1.00	\$120.00	\$2.00	\$240.00	\$2.00	\$240.00	\$0.54	\$64.80	1
1122-2048	BIODEGRADABLE EROSION CONTOL LOGS (12-IN DIA) (INS	LF	380	\$4.00	\$1,520.00	\$4.13	\$1,569.40	\$2.00	\$760.00	\$4.03	\$1,531.40	1
1122-2056 1122-2002	BIODEGRADABLE EROSION CONTROL LOGS (REMOVE) ROCK FILTER DAMS (INSTALL) (TY 2)	LF LF	380 20	\$1.00 \$27.00	\$380.00 \$540.00	\$2.00 \$27.50	\$760.00 \$550.00	\$2.00 \$50.00	\$760.00 \$1,000.00	\$0.81 \$26.88	\$307.80 \$537.60	+
1122-2002	ROCKFILTER DAMS (INSTALL) (11 2)  ROCKFILTER DAMS (REMOVE)	LF	20	\$11.00	\$220.00	\$15.00	\$300.00	\$15.00	\$300.00	\$10.75	\$215.00	+
1122-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	SY	90	\$18.00	\$1,620.00	\$18.70	\$1,683.00	\$25.00	\$2,250.00	\$18.28	\$1,645.20	1
1122-2019	CONSTRUCTION EXITS (REMOVE)	SY	90	\$7.00	\$630.00	\$10.00	\$900.00	\$15.00	\$1,350.00	\$6.45	\$580.50	4
	SUBTOTAL SCHEDULE 4 - DAVIS STREET DRAINAGE				\$147,748.50		\$152,092.32		\$160,246.60		\$180,289.80	+
	CONTRACT OF CONTRACTOR OF CONT											
170	SCHEDULE 5 - OPERATIONAL & CONTINGENCY ITEMS IRRIGATION CONTINGENCY	ALW	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	+
423-1	RET WALL (TY 6) (CITY OF DALLAS)	CY	25	\$1,400.00	\$35,000.00	\$700.00	\$17,500.00	\$1,080.00	\$27,000.00	\$1,050.00	\$26,250.00	1
423-2	RET WALL (TY 8) (CITY OF DALLAS)	CY	15 1	\$1,700.00	\$25,500.00	\$850.00	\$12,750.00	\$1,080.00	\$16,200.00	\$1,050.00	\$15,750.00	4
500 502	MOBILIZATION BARRICADES, SIGNS & TRAFFIC HANDLING	LS MO	24	\$640,125.00 \$24,000.00	\$640,125.00 \$576,000.00	\$500,000.00 \$20,500.00	\$500,000.00 \$492,000.00	\$1,275,000.00 \$45,000.00	\$1,275,000.00 \$1,080,000.00	\$1,315,000.00 \$21,000.00	\$1,315,000.00 \$504,000.00	+
502-1	PORTABLE CHANGEABLE MESSAGE SIGNS	DAY	300	\$100.00	\$30,000.00	\$98.00	\$29,400.00	\$120.00	\$36,000.00	\$189.00	\$56,700.00	
504	FIELD OFFICE	MO	24	\$8,750.00	\$210,000.00	\$3,576.57	\$85,837.68	\$2,500.00	\$60,000.00	\$15,750.00	\$378,000.00	4
550-2001 550	CHAIN LINK FENCE (4 TO 6 FT HGT) (F&I) CHAIN LINK GATE (4 TO 6 FT HGT) (VARIABLE WIDTH)	LF EA	500 10	\$42.00 \$895.00	\$21,000.00 \$8,950.00	\$35.00 \$750.00	\$17,500.00 \$7,500.00	\$26.00 \$1,800.00	\$13,000.00 \$18,000.00	\$42.46 \$913.75	\$21,230.00 \$9,137.50	+
556	UNDERDRAIN	LF	300	\$35.00	\$10,500.00	\$45.00	\$13,500.00	\$20.00	\$6,000.00	\$42.00	\$12,600.00	土
900	POTHOLING (INVESTIGATION)	EA	10	\$1,500.00	\$15,000.00	\$500.00	\$5,000.00	\$300.00	\$3,000.00	\$1,050.00	\$10,500.00	$\perp$
907 5961	WOOD FENCE (CEDAR) (4 TO 6 FT HGT) (F&I) WROUGHT IRON FENCE	LF LF	100 100	\$79.00 \$90.00	\$7,900.00 \$9,000.00	\$75.00 \$100.00	\$7,500.00 \$10,000.00	\$45.00 \$185.00	\$4,500.00 \$18,500.00	\$134.38 \$91.38	\$13,438.00 \$9,138.00	+-
LS-1	MULTI-TRUNK TREE (CREPE MYRTLE)	EA	14	\$475.00	\$6,650.00	\$324.50	\$4,543.00	\$650.00	\$18,500.00	\$735.00	\$10,290.00	+
W-1	CONCRETE ENCASEMENT	LF	600	\$27.00	\$16,200.00	\$27.50	\$16,500.00	\$25.00	\$15,000.00	\$27.50	\$16,500.00	
W-2	WATER SERVICE	EA	5	\$1,050.00	\$5,250.00	\$1,100.00	\$5,500.00	\$1,000.00	\$5,000.00	\$1,100.00	\$5,500.00	
	1											

TABULATION	SHEET											
Bid No: 2017-				Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		
	OCKRELL HILL ROAD MCIP PROJECT NO. 42301			TISEO Paving	Company	Rebcon	1868	Ragle, Inc.		Ed Bell Const	ruction Co.	
	TH OF MOLER STREET TO DAVIS STREET			P.O. Box 27004		W. Northwest		P.O. Box 444		10605 Harry H		
	NAGER: TED TEGENE. P.E.			Dallas, TX, 752		Dallas, TX 752		Newburgh, IN	47620-0444	Dallas, TX 753		
FROJECT MAI	NAGER. TED TEGENE, F.E.			972.289.0723	.21	PH: 972-444-8		PH: 817-285-6		PH: 214-358-6		
				972.269.0723		PH: 9/2-444-6	230	PH: 617-265-0	0000	PH: 214-336-6	361	
				Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy		
	Contact			Itiseo@tiseopavi	ng com	danny@rebcon.c	om	tragle@ragleinc.	com	info@edbellcons		
	Contact				··	dannyerebeome		trugic@rugiciric.	COIII	into@cabciicons	struction.com	
	MWBE				were indicated on nission	,	No					
	Dallas County Tax Payer				'es		es es			<b>—</b> ,	/es	
	Bid Bond Received				'es		es es	,	/es		Yes	
	Addendums Returned				'es		res		res res		Yes	
	1295 Form				'es		'es		/es		Yes	
	Award Recommendation				nd for Award						. 00	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	
	SCHEDULE 6 - CDBG WATER LINE											
1800H	6" PVC WATER PIPE	LF	20	\$160.00	\$3,200.00	\$165.00	\$3,300.00	\$150.00	\$3,000.00	\$165.00	\$3,300.00	
1800J	8" PVC WATER PIPE	LF	940	\$163.00	\$153,220.00	\$170.50	\$160,270.00	\$155.00	\$145,700.00	\$205.61	\$193,273.40	
1800L 1830H	12" PVC WATER PIPE CONNECT TO EXISTING 6" WATER MAIN	LF EA	20	\$168.00 \$2,625.00	\$3,360.00 \$2,625.00	\$176.00 \$2,750.00	\$3,520.00 \$2,750.00	\$160.00 \$2.500.00	\$3,200.00 \$2,500.00	\$176.00 \$2,750.00	\$3,520.00 \$2,750.00	
1830J	CONNECT TO EXISTING 6 WATER MAIN  CONNECT TO EXISTING 8" WATER MAIN	EA	2	\$3,150.00	\$6,300.00	\$3,300.00	\$6,600.00	\$3,000.00	\$6,000.00	\$3,300.00	\$6,600.00	
20300	ADJUSTMENT AND/OR RELOCATION OF WATER METER BO	EA	19	\$105.00	\$1,995.00	\$110.00	\$2,090.00	\$100.00	\$1,900.00	\$100.00	\$1,900.00	
5050	1" WATER SERVICE	EA	18	\$1,050.00	\$18,900.00	\$1,100.00	\$19,800.00	\$1,000.00	\$18,000.00	\$1,100.00	\$19,800.00	
5050B	2" WATER SERVICE	EA	1	\$3,150.00	\$3,150.00	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00	
5060 5060b	1" WATER SERVICE (EXTRA LENGTH) 2" WATER SERVICE (EXTRA LENGTH)	LF LF	100 100	\$16.00 \$21.00	\$1,600.00 \$2,100.00	\$16.50 \$22.00	\$1,650.00 \$2,200.00	\$15.00 \$20.00	\$1,500.00 \$2,000.00	\$16.50 \$22.00	\$1,650.00 \$2,200.00	
5020	CAST IRON FITTINGS	TON	2	\$1,050.00	\$2,100.00	\$1,100.00	\$2,200.00	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00	
5110LxH	12" X 6" TAPPING SLEEVE	EA	1	\$2,625.00	\$2,625.00	\$2,750.00	\$2,750.00	\$2,500.00	\$2,500.00	\$2,750.00	\$2,750.00	
5110LxJ	12" X 8" TAPPING SLEEVE	EA	2	\$3,675.00	\$7,350.00	\$3,850.00	\$7,700.00	\$3,500.00	\$7,000.00	\$3,850.00	\$7,700.00	
5100H	6" GATE VALVE	EA	2	\$1,575.00	\$3,150.00	\$1,650.00	\$3,300.00	\$1,500.00	\$3,000.00	\$1,650.00	\$3,300.00	
5100J 5600	8" GATE VALVE CUT AND PLUG EXISTING WATER MAIN	EA EA	3	\$2,100.00 \$525.00	\$6,300.00 \$2,625.00	\$2,200.00 \$550.00	\$6,600.00 \$2,750.00	\$2,000.00 \$500.00	\$6,000.00 \$2,500.00	\$2,200.00 \$550.00	\$6,600.00	
5610	CUT AND PLUG EXISTING WATER MAIN  CUT AND PLUG WATER MAIN FOR TEST	EA	5 2	\$525.00	\$1,050.00	\$550.00	\$1,100.00	\$500.00	\$1,000.00	\$550.00	\$2,750.00 \$1,100.00	
5080	RECONNECT EXISTING WATER SERVICE	EA	1	\$1,050.00	\$1,050.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	\$15,400.00	\$15,400.00	
5091	INSTALL FIRE HYDRANT	EA	1	\$3,150.00	\$3,150.00	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00	
5092	REMOVING EXSITING FIRE HYDRANT	EA	1	\$1,050.00	\$1,050.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00	
5093 6060	DELIVER FIRE HYDRANT WASTEWATER LATERAL	EA EA	1 4	\$105.00 \$1,050.00	\$105.00 \$4,200.00	\$110.00 \$1,100.00	\$110.00 \$4,400.00	\$100.00 \$1,000.00	\$100.00 \$4,000.00	\$110.00 \$1,100.00	\$110.00 \$4,400.00	
6925	TRENCH EXCAVATION SAFETY AND SUPPORT	LF	980	\$2.00	\$1,960.00	\$1.10	\$1,078.00	\$1,000.00	\$980.00	\$1,100.00	\$980.00	
7030	ROCK FOUNDATION	CY	30	\$32.00	\$960.00	\$33.00	\$990.00	\$30.00	\$900.00	\$30.00	\$900.00	
7050	SAND BACKFILL	CY	75	\$21.00	\$1,575.00	\$22.00	\$1,650.00	\$20.00	\$1,500.00	\$20.00	\$1,500.00	
7071	CLASS "B" CONCRETE	CY	15	\$105.00	\$1,575.00	\$110.00	\$1,650.00	\$100.00	\$1,500.00	\$100.00	\$1,500.00	
7730 7765	DISPOSAL OF HEAVILY CHLORINATED WATER MAIN FLUSH DISPOSAL OF CLASS I NON-HAZARDOUS INDUSTRIAL WAS	LS CY	1	\$105.00 \$265.00	\$105.00 \$265.00	\$110.00 \$275.00	\$110.00 \$275.00	\$100.00 \$250.00	\$100.00 \$250.00	\$100.00 \$420.00	\$100.00 \$420.00	
20500	INVESTIGATION	EA	1	\$265.00	\$105.00	\$275.00 \$110.00	\$275.00 \$110.00	\$250.00	\$250.00	\$100.00	\$100.00	
8000	BARRICADING (WATER AND WW MAINS ONLY)	LF	980	\$2.00	\$1,960.00	\$20.00	\$19,600.00	\$15.00	\$14,700.00	\$1.00	\$980.00	
8011	CONSTRUCTION SURVEYING AND STAKING OF PROPOSEI	LF	980	\$5.00	\$4,900.00	\$5.00	\$4,900.00	\$1.00	\$980.00	\$1.00	\$980.00	
20330	ADJUST WATER VALVE COVERS AND VALVE STACKS INSTALL FIRE HYDRANT EXTENSION	EA	5	\$105.00	\$525.00	\$110.00	\$550.00	\$100.00	\$500.00	\$100.00	\$500.00	
20430 20440	INSTALL FIRE HYDRANT EXTENSION REMOVE FIRE HYDRANT EXTENSION	EA EA	1	\$840.00 \$105.00	\$840.00 \$105.00	\$880.00 \$110.00	\$880.00 \$110.00	\$800.00 \$100.00	\$800.00 \$100.00	\$800.00 \$100.00	\$800.00 \$100.00	
20540	ALTER WATER VALVE COVERS AND VALVE STACKS	EA	5	\$105.00	\$525.00	\$110.00	\$550.00	\$100.00	\$500.00	\$100.00	\$500.00	
								,				
	SUBTOTAL SCHEDULE 6 - CDBG WATER LINE				\$246,605.00		\$274,343.00		\$242,810.00		\$298,363.40	
	SCHEDULE 7 - DWU WATER & SEWER		<del>                                     </del>	-		+					<del>                                     </del>	
1800F	4" PVC WATER PIPE	LF	40	\$137.00	\$5,480.00	\$143.00	\$5,720.00	\$130.00	\$5,200.00	\$143.00	\$5,720.00	
1800H	6" PVC WATER PIPE	LF	60	\$158.00	\$9,480.00	\$165.00	\$9,900.00	\$150.00	\$9,000.00	\$165.00	\$9,900.00	-
1800J	8" PVC WATER PIPE	LF	1,380	\$163.00	\$224,940.00	\$170.50	\$235,290.00	\$155.00	\$213,900.00	\$170.50	\$235,290.00	
1800L	12" PVC WATER PIPE	LF	60	\$168.00	\$10,080.00	\$176.00	\$10,560.00	\$160.00	\$9,600.00	\$176.00	\$10,560.00	
3110J	8" PVC PRESSURE RATED WASTEWATER PIPE REHABILITATION OF EXISTING 8" WASTEWATER MAIN	LF LF	800 640	\$158.00 \$45.00	\$126,400.00	\$165.00	\$132,000.00	\$150.00	\$120,000.00	\$165.00	\$132,000.00 \$32,000.00	
3520J 3540J	POINT REPAIR OF 8" WASTEWATER MAIN	EA EA	3	\$45.00 \$2,100.00	\$28,800.00 \$6,300.00	\$46.20 \$2,200.00	\$29,568.00 \$6,600.00	\$42.00 \$2,000.00	\$26,880.00 \$6,000.00	\$50.00 \$2,200.00	\$6,600.00	
3550	REMOVAL OF INTERNAL OBSTRUCTIONS FOR WASTEWAT	EA	3	\$2,100.00	\$6,300.00	\$2,200.00	\$6,600.00	\$2,000.00	\$6,000.00	\$2,200.00	\$6,600.00	
5020	EXTRA IRON FITTINGS	TON	5	\$1,050.00	\$5,250.00	\$1,100.00	\$5,500.00	\$1,000.00	\$5,000.00	\$1,100.00	\$5,500.00	
5050	WATER SERVICE	EA	7	\$1,050.00	\$7,350.00	\$1,100.00	\$7,700.00	\$1,000.00	\$7,000.00	\$1,100.00	\$7,700.00	
5061FxE 5080	4" DOMESTIC SERVICE WITH 3" METER AND TRANSFER RECONNECT EXISTING WATER SERVICE	EA EA	7	\$15,750.00 \$525.00	\$15,750.00 \$3.675.00	\$16,500.00 \$550.00	\$16,500.00 \$3.850.00	\$15,000.00 \$500.00	\$15,000.00 \$3,500.00	\$16,500.00 \$550.00	\$16,500.00 \$3,850.00	
5080	INSTALL FIRE HYDRANT	EA	3	\$3,150.00	\$9,450.00	\$3,300.00	\$9,900.00	\$3,000.00	\$9,000.00	\$3,300.00	\$3,850.00	
5031	MODIFIED IN COLUMN TO THE PROPERTY OF THE PROP			\$5,.50.00	ψο, .ου.ου	40,000.00	40,000.00	40,000.00	\$0,000.00	<b>\$0,000.00</b>	<b>\$0,000.00</b>	

TABULATION S	SHEET											
Bid No: 2017-0				Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		
	CKRELL HILL ROAD MCIP PROJECT NO. 42301			TISEO Paving	Company	Rebcon	1868	Ragle, Inc.		Ed Bell Const	ruction Co	
	H OF MOLER STREET TO DAVIS STREET			P.O. Box 2700		W. Northwest I		P.O. Box 444		10605 Harry H		
	AGER: TED TEGENE, P.E.			Dallas, TX. 752		Dallas, TX 752		Newburgh, IN	47620-0444	Dallas, TX 753		
FROJECT WAN	AGER. TED TEGENE, F.E.			972.289.0723	221	PH: 972-444-8		PH: 817-285-6		PH: 214-358-6		
				312.203.0123		F11. 312-444-0	230	F11. 017-203-0	1000	F11. 214-336-0	301	
				Louis Tiseo		David Krieg		Troy Ragle		Steven Priddy		
	Contact			Itiseo@tiseopavi		danny@rebcon.c		tragle@ragleinc.		info@edbellcons	truction com	
	Contact					danny@rebcon.c	<u>UIII</u>	tragie@ragieiric.	COIII	into@edbelicons	truction.com	
					were indicated on							
	MWBE				nission		No.			ļ.,	/22	
	Dallas County Tax Payer				'es 'es		es	,			res res	
	Bid Bond Received						es		/es			
	Addendums Returned				/es		es		/es		res .	
	1295 Form				es .	Y	es	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	/es	`	res	
	Award Recommendation		- OLIAN PROPERTY		nd for Award	LINUT DRICE	EVTENSION	LINUT DOIGE	EVTENSION	LINUT DDIG-	EVEENING	
ITEM	DESCRIPTION  DESCRIPTION	UNIT EA	QUANTITY	\$1,050.00	\$1,050.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	UNIT PRICE	\$1,100.00	
5092 5093	REMOVING EXISTING FIRE HYDRANT DELIVER FIRE HYDRANT	EA EA	1 1	\$1,050.00 \$735.00	\$1,050.00 \$735.00	\$1,100.00 \$770.00	\$1,100.00 \$770.00	\$1,000.00 \$700.00	\$1,000.00 \$700.00	\$1,100.00 \$770.00	\$1,100.00 \$770.00	
5100H	6" GATE VALVE	EA	3	\$1,575.00	\$4,725.00	\$1,650.00	\$4,950.00	\$1,500.00	\$4,500.00	\$1,650.00	\$4,950.00	
5100J	8" GATE VALVE	EA	8	\$2,100.00	\$16,800.00	\$2,200.00	\$17,600.00	\$2,000.00	\$16,000.00	\$2,200.00	\$17,600.00	
5100L	12" GATE VALVE	EA	1	\$2,625.00	\$2,625.00	\$2,750.00	\$2,750.00	\$2,500.00	\$2,500.00	\$2,750.00	\$2,750.00	-
5560J	8" WATER MAIN CROSSING (BY OPEN CUT)	LF	18	\$210.00	\$3,780.00	\$220.00	\$3,960.00	\$200.00	\$3,600.00	\$220.00	\$3,960.00	
5770J 5770L	STANDARD 8" WATER MAIN LOWERING STANDARD 12" WATER MAIN LOWERING	EA EA	4	\$3,150.00 \$4,200.00	\$12,600.00 \$4,200.00	\$3,300.00 \$4,400.00	\$13,200.00 \$4,400.00	\$3,000.00 \$4,000.00	\$12,000.00 \$4,000.00	\$3,300.00 \$4,400.00	\$13,200.00 \$4,400.00	
6060	WASTEWATER LATERAL	EA	2	\$1,050.00	\$2,100.00	\$1,100.00	\$2,200.00	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00	
6075	INTERNAL LATERAL CONNECTION	EA	7	\$126.00	\$882.00	\$132.00	\$924.00	\$120.00	\$840.00	\$132.00	\$924.00	
6100	WASTEWATER ACCESS DEVICE	EA	3	\$4,725.00	\$14,175.00	\$4,950.00	\$14,850.00	\$4,500.00	\$13,500.00	\$4,950.00	\$14,850.00	
6130AE 6141	48" DIAMETER WASTEWATER MANHOLE VACUUM TEST FOR WASTEWATER MANHOLE	EA EA	6 9	\$9,450.00 \$210.00	\$56,700.00 \$1,890.00	\$9,900.00 \$220.00	\$59,400.00 \$1,980.00	\$9,000.00 \$200.00	\$54,000.00 \$1,800.00	\$9,900.00 \$220.00	\$59,400.00 \$1,980.00	
6921	TELEVISION INSPECTION	LF	3,040	\$2.00	\$6,080.00	\$1.10	\$3,344.00	\$1.00	\$3,040.00	\$1.10	\$3,344.00	
6925	TRENCH EXCAVATION SAFETY AND SUPPORT	LF	2,320	\$2.00	\$4,640.00	\$1.10	\$2,552.00	\$1.00	\$2,320.00	\$1.10	\$2,552.00	
7030	ROCK FOUNDATION	CY	11	\$32.00	\$352.00	\$33.00	\$363.00	\$30.00	\$330.00	\$30.00	\$330.00	
7041	FLOWABLE BACKFILL	CY	25	\$126.00	\$3,150.00	\$132.00	\$3,300.00	\$120.00	\$3,000.00	\$120.00	\$3,000.00	
7050 7071	SAND BACKFILL CLASS "B" CONCRETE	CY	65 8	\$21.00 \$105.00	\$1,365.00 \$840.00	\$22.00 \$110.00	\$1,430.00 \$880.00	\$20.00 \$100.00	\$1,300.00 \$800.00	\$20.00 \$100.00	\$1,300.00 \$800.00	
7520	TEMPORARY PAVING (HOT MIX OR HIGH PERFORMANCE N	TON	150	\$105.00	\$15,750.00	\$110.00	\$16,500.00	\$100.00	\$15,000.00	\$100.00	\$15,000.00	
7560	CRUSHED ROCK FOR TEMPORARY PAVING BASE	CY	150	\$32.00	\$4,800.00	\$33.00	\$4,950.00	\$30.00	\$4,500.00	\$30.00	\$4,500.00	
7582	REINFORCED CONCRETE PAVING	SY	400	\$53.00	\$21,200.00	\$55.00	\$22,000.00	\$50.00	\$20,000.00	\$50.00	\$20,000.00	
7730	DISPOSAL OF HEAVILY CHLORINATED WATER MAIN FLUSH	LS LF	1 2.948	\$105.00 \$2.00	\$105.00	\$110.00	\$110.00 \$14,740.00	\$100.00 \$1.00	\$100.00 \$2,948.00	\$100.00	\$100.00 \$2,948.00	
8011 20330	CONSTRUCTION SURVEYING AND STAKING OF PROPOSEL ADJUSTMENT OF WATER VALVE COVERS AND VALVE STA	EA	12	\$2.00	\$5,896.00 \$1,260.00	\$5.00 \$110.00	\$1,320.00	\$1.00	\$2,948.00	\$1.00 \$100.00	\$2,948.00	
20351	ADJUSTMENT OF WATER VALVE COVERS AND VALVE STA	EA	3	\$105.00	\$315.00	\$110.00	\$330.00	\$100.00	\$300.00	\$100.00	\$300.00	
20360	ADJUSTMENT OF WASTEWATER MANHOLES	EA	6	\$105.00	\$630.00	\$110.00	\$660.00	\$100.00	\$600.00	\$100.00	\$600.00	
20500	INVESTIGATION	EA	2	\$105.00	\$210.00	\$110.00	\$220.00	\$100.00	\$200.00	\$100.00	\$200.00	
20540 20560	ALTER WATER VALVE COVERS AND VALVE STACKS ALTER WASTEWATER MANHOLES	EA EA	12 6	\$105.00 \$525.00	\$1,260.00 \$3,150.00	\$110.00 \$550.00	\$1,320.00 \$3,300.00	\$100.00 \$500.00	\$1,200.00 \$3,000.00	\$100.00 \$500.00	\$1,200.00 \$3,000.00	
20560	ALTER WASTEWATER MANHOLES	EA	0	\$525.00	\$3,130.00	\$550.00	\$3,300.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	
	SUBTOTAL SCHEDULE 7 - DWU WATER & SEWER		<u> </u>		\$652,520.00		\$685,091.00		\$612,358.00		\$670,578.00	
E00 7000	ADD ALTERNATE A SCHEDULE 10 - PARTNERING WORKSH PARTNERING WORKSHOP		1	£4 000 00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	£1,000,00	
599-7000	FAR INERING WURKSHUP	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
	SUBTOTAL ADD ALT A SCHEDULE 10 - PARTNERING WORL	SHOP	1		\$1,000.00		\$1,000.00		\$1,000.00		\$1,000.00	
100 0005	ADD ALTERNATE B SCHEDULE 9 - LANDSCAPE ROUNDABO		005	004.00	<b>AF 005 05</b>	000.00	A0.550.00	000.40	00.440.05	840.05	00.000.05	
132-6005 170-6001A	EMBANKMENT TURF IRRIGATION	CY SF	285 16,475	\$21.00 \$1.00	\$5,985.00 \$16,475.00	\$30.00 \$3.65	\$8,550.00 \$60,133.75	\$28.49 \$0.74	\$8,119.65 \$12.191.50	\$13.65 \$1.00	\$3,890.25 \$16.475.00	
170-6001A	DRIFF IRRIGATION  DRIFF IRRIGATION	SF	10,635	\$1.75	\$18,611.25	\$2.50	\$26,587.50	\$0.74	\$9,358.80	\$1.00	\$10,635.00	
192-6002	SHRUBS AND NATIVE GRASSES - 1 GALLON	EA	2,283	\$9.00	\$20,547.00	\$6.50	\$14,839.50	\$14.00	\$31,962.00	\$15.00	\$34,245.00	
192-6003	NATIVE GRASSES - 3 GALLON	EA	258	\$23.00	\$5,934.00	\$16.00	\$4,128.00	\$25.00	\$6,450.00	\$27.50	\$7,095.00	
192-6012	MULCH	SF	7,293	\$0.65	\$4,740.45	\$0.50	\$3,646.50	\$0.60	\$4,375.80	\$0.70	\$5,105.10	
192-6015 192-6016	STEEL EDGING BED PREPARATION	LF SF	627 7,293	\$5.00 \$0.70	\$3,135.00 \$5,105.10	\$3.50 \$1.10	\$2,194.50 \$8,022.30	\$2.70 \$0.80	\$1,692.90 \$5,834.40	\$3.15 \$1.00	\$1,975.05 \$7,293.00	
192-6024	ORNAMENTAL TREES	EA	11	\$500.00	\$5,500.00	\$1.10 \$193.40	\$2,127.40	\$468.00	\$5,834.40	\$525.00	\$5,775.00	
132-0024	ONIVAMENTAL TIMES	LA		Ψ500.00	ψ0,000.00	₩130. <del>7</del> 0	Ψ2,121.70	Ψ+00.00	ψυ, 1-τυ.υυ	Ψ020.00	ψο,7 7 0.00	

ABULATION S	SHEET										
Bid No: 2017-0	030-6654 Opening Date: 03-30-2017			Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4	
ROJECT: CO	CKRELL HILL ROAD MCIP PROJECT NO. 42301			TISEO Paving	Company	Rebcon	1868	Ragle, Inc.		Ed Bell Constr	ruction Co
				P.O. Box 27004		W. Northwest I		P.O. Box 444		10605 Harry H	
				Dallas, TX. 752					17000 0444	,	
ROJECI MAN	NAGER: TED TEGENE, P.E.	HILL ROAD MCIP PROJECT NO. 42301  DLER STREET TO DAVIS STREET  TED TEGENE, P.E.  County Tax Payer  Ind Received  Idums Returned  Orm  Recommendation  DESCRIPTION  UNIT  QUIT  QUIT				Dallas, TX 752		Newburgh, IN		Dallas, TX 753	
						PH: 972-444-8	230	PH: 817-285-6	060	PH: 214-358-6	581
		L HILL ROAD MCIP PROJECT NO. 42301  OLER STREET TO DAVIS STREET  TED TEGENE, P.E.  ICT  E S County Tax Payer  ond Received  indums Returned  Form  I Recommendation  DESCRIPTION  UNIT  I REES  EA  NPLACE CONCRETE RETAING WALLS  CY  COBBLES  LIGHTING LED REVEAL LIGHT  LIS  RING  LIS  RING  LIS  ICTAL: Schedule 1 - STA 14+65 TO STA 49+00  DITAL: Schedule 2 - STA 10+10 TO STA 14+65; STA 49+00 TO STA 62  DITAL: Schedule 3 - STA 62+00 TO STA 75+36  DITAL: Schedule 4 - DAVIS STREET DRAINAGE  DITAL: Schedule 5 - OPERATIONAL & CONTINGENCY ITEMS  DITAL: Schedule 6 - CDBG WATER LINE  DITAL: Schedule 7 - DWU WATER & SEWER  DITAL: Schedule 7 - DWU WATER & SEWER  DITAL: ADD ALT A Schedule 8 - Partnering Workshop  DITAL: ADD ALT A Schedule 8 - Partnering Workshop				David Krieg		Troy Ragle		Steven Priddy	
	Contact			ltiseo@tiseopavii	ng.com	danny@rebcon.c	<u>om</u>	tragle@ragleinc.d	<u>com</u>	info@edbellcons	truction.com
				MWRE FIRMS	were indicated on						
	MWBE				nission	1	No				
	Dallas County Tax Payer				es	Y	es			١	/es
	Bid Bond Received			Υ	'es	Y	'es	Y	es	,	res es
	Addendums Returned			Y	'es		'es	Y	es	Ì	res
	1295 Form			Υ	'es	Y	'es	Y	es	,	res es
	Award Recommendation			Recommer	nd for Award						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
192-6025	SHADE TREES	EA	18	\$800.00	\$14,400.00	\$350.00	\$6,300.00	\$618.00	\$11,124.00	\$655.00	\$11,790.00
423-6008	CAST-IN-PLACE CONCRETE RETAING WALLS	CY	42	\$1,600.00	\$67,200.00	\$950.00	\$39,900.00	\$1,080.00	\$45,360.00	\$1,155.00	\$48,510.00
1005-6002	RIVER COBBLES	SF	2,297	\$7.00	\$16,079.00	\$5.50	\$12,633.50	\$7.20	\$16,538.40	\$8.00	\$18,376.00
6196-6001	WALL LIGHTING LED REVEAL LIGHT	LS	1	\$56,000.00	\$56,000.00	\$21,000.00	\$21,000.00	\$4,500.00	\$4,500.00	\$15,750.00	\$15,750.00
0628-2200	ELECTRICAL PANELS, CONTRILS, CONDUIT, ETC	LS	1	\$21,800.00	\$21,800.00	\$14,000.00	\$14,000.00	\$8,500.00	\$8,500.00	\$37,800.00	\$37,800.00
636-6000	LETTERING	LS	1	\$92,000.00	\$92,000.00	\$40,000.00	\$40,000.00	\$1,500.00	\$1,500.00	\$21,000.00	\$21,000.00
	OURTOTAL ARRAY TO COUERUME A LANGOCARE ROUND	ADOUT			0050 544 00		**********		A170 055 15		4045 744 40
	SUBTOTAL ADD ALT B SCHEDULE 9 - LANDSCAPE ROUND	DABOUT	I		\$353,511.80		\$264,062.95		\$172,655.45		\$245,714.40
	SUBTOTAL: Schedule 1 - STA 14+65 TO STA 49+00				\$5,989,429.60		\$6,693,598.46		\$6,395,513.37		\$6,467,755.24
		+00 TO STA	A 62+10		\$1,664,917.15		\$1,926,643.24		\$1,837,124.96		\$1,814,496.71
	SUBTOTAL: Schedule 3 - STA 62+00 TO STA 75+36				\$1,263,910.55		\$1,474,265.75		\$1,411,367.24		\$1,363,828.32
	SUBTOTAL: Schedule 4 - DAVIS STREET DRAINAGE				\$147,748.50		\$152,092.32		\$160,246.60		\$180,289.80
		ITEMS			\$1,620,075.00		\$1,228,030.68		\$2,589,300.00		\$2,407,033.50
	SUBTOTAL: Schedule 6 - CDBG WATER LINE				\$246,605.00		\$274,343.00		\$242,810.00		\$298,363.40
	SUBTOTAL: Schedule 7 - DWU WATER & SEWER				\$652,520.00		\$685,091.00		\$612,358.00		\$670,578.00
					Bid No 1		Bid No 2		Bid No 3	1	Bid No 4
	TOTAL BASE BID:				\$11,585,205.80		\$12,434,064.45		\$13,248,720.17		\$13,202,344.97
·					44 000 00		41 000 00		44 000 00	Ī	A1 000 00
	SUBTOTAL: ADD ALT A Schedule 8 - Partnering Workshop				\$1,000.00		\$1,000.00		\$1,000.00		\$1,000.00
	SUBTOTAL: ADD ALT B Schedule 9 - LANDSCAPE ROUNDAI	BOUT	Not /	Awarded	\$353,511.80		\$264,062.95		\$172,655.45		\$245,714.40
					Bid No 1		Bid No 2		Bid No 3		Bid No 4
	TOTAL BASE BID + ALT A PARTNERING WORKSHOP			1	\$11,586,205.80		\$12,435,064.45		\$13,249,720.17	ı	\$13,203,344.97